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Solving NLS Equation for a Nonlinear Media using Volterra series 

Volterra series expansion is one of the most powerful methods for describing the non-linear systems. 
We will now obtain the output of the nonlinear system by solving NLS equations with Volterra series. If 
we consider the first 3 terms of the Volterra series we will have a good approximation of the solution of 

NLS equation. So 𝑋𝑜(𝜔, 𝑧) can be evaluated as:
𝑋𝑜(𝜔, 𝑧) = 𝑋𝑜1

(𝜔, 𝑧) + 𝑋𝑜2
(𝜔, 𝑧) + 𝑋𝑜3

(𝜔, 𝑧)

Where 𝑋𝑜1
(𝜔, 𝑧), 𝑋𝑜2

(𝜔, 𝑧) 𝑎𝑛𝑑 𝑋𝑜3
(𝜔, 𝑧)are defined as follows

𝑋𝑜1
(𝜔, 𝑧) = ∬ 𝐻𝑜1,2

′ (𝜔1, 𝜔2, 𝜔 − 𝜔1 + 𝜔2, 𝑧) × 𝐶(𝜔1)𝑆∗(𝜔2)𝐶(𝜔 − 𝜔1 + 𝜔2)𝑑𝜔1𝑑𝜔2

𝑋𝑜2
(𝜔, 𝑧) = ∬ ∬ 𝐻𝑜3,2

′ (𝜔1, 𝜔2, 𝜔3, 𝜔4, 𝜔 − 𝜔1 + ⋯ + 𝜔4, 𝑧) × 𝐶(𝜔1)𝑆∗(𝜔2)𝑆(𝜔3)𝑆∗(𝜔4)

× 𝐶(𝜔 − 𝜔1 + ⋯ + 𝜔4)𝑑𝜔1 … 𝑑𝜔4

𝑋𝑜3
(𝜔, 𝑧) = ∬ ∬ 𝐻𝑜1,4

′ (𝜔1, 𝜔2, 𝜔3, 𝜔4, 𝜔 − 𝜔1 + ⋯ + 𝜔4, 𝑧) × 𝐶(𝜔1)𝐶∗(𝜔2)𝐶(𝜔3)𝑆∗(𝜔4)

× 𝐶(𝜔 − 𝜔1 + ⋯ + 𝜔4)𝑑𝜔1 … 𝑑𝜔4

Where c(t), s(t) are the clock and the received signal in time domain, 𝐶(𝜔), 𝑆(𝜔) are the Fourier transform of 

the clock and received signal and  the Volterra kernels, 𝐻𝑜1,2
′ , 𝐻𝑜3,2

′  𝑎𝑛𝑑 𝐻𝑜1,4
′  are calculated as follows

𝐻𝑜1,2
′ (𝜔1, 𝜔2, 𝜔 − 𝜔1 + 𝜔2, 𝑧) = 2𝑗𝛾𝑂𝑆𝐶𝑒𝐺1(𝜔)𝑧(

1 − 𝑒−2𝛼𝑧

2𝛼
) 

𝐻𝑜3,2
′ (𝜔1, 𝜔2, 𝜔3, 𝜔4, 𝜔 − 𝜔1 + ⋯ + 𝜔4, 𝑧) = 2𝛾𝑂𝑆𝐶 (𝛾𝑆𝑆 + 2𝛾𝑂𝑆)𝑒𝐺1(𝜔)𝑧 (

1 − 𝑒−2𝛼𝑧

2𝛼
)

2

𝐻𝑜1,4
′ (𝜔1, 𝜔2, 𝜔3, 𝜔4, 𝜔 − 𝜔1 + ⋯ + 𝜔4, 𝑧) = 8𝛾𝑂𝑆𝐶(𝛾𝑆𝐶 + 2𝛾𝑂𝐶)𝑒𝐺1(𝜔)𝑧(

1 − 𝑒−2𝛼𝑧

2𝛼
)2 

Where 𝛼 is the linear attenuation constant, 𝛾𝑖𝑗𝑘𝑙 is spatial distribution of the fiber mode. For simplicity of 

calculation we suppose that the received and the clock signals are Sinc shape. So these signals in time and 

spectral domain as follow: 



𝑐(𝑡) = ∑ 𝐴𝑐
′. Sinc (

𝑡 − (𝐶𝑚.
𝑇𝑏

𝐹⁄ )

𝑇𝑐

)

𝑘

𝑚=1

 

𝐶(𝜔) = 𝐹{𝑐(𝑡)} = 𝐴𝑐
′. 𝑇𝑐 . 𝜋. 𝑟𝑒𝑐𝑡(

𝜔. 𝑇𝑐

2
). ∑ 𝑒−2𝜋𝑗𝐶𝑚.(

𝑇𝑏
𝐹⁄ ).𝜔

𝐾

𝑚=1

 

𝑠(𝑡) = 𝑏. ∑ 𝐴𝑑. Sinc (
𝑡 − (𝐶𝑚.

𝑇𝑏
𝐹⁄ )

𝑇𝑑

)

𝑘

𝑚=1

 

𝑆(𝜔) = 𝐹{𝑠(𝑡)} = 𝑏. 𝐴𝑑 . 𝑇𝑑𝜋. 𝑟𝑒𝑐𝑡(
𝜔. 𝑇𝑑

2
). ∑ 𝑒−2𝜋𝑗𝐶𝑚 .(

𝑇𝑏
𝐹⁄ ).𝜔

𝑘

𝑚=1

 

 

Where 𝐴𝑐
′ , 𝐴𝑑 are amplitudes of the clock and the received signals, 𝐶𝑚 is the code’s number, k is the weight 

of the code, 𝑇𝑑 , 𝑇𝑐 are full width at half maximum (FWHM) of the data pulse and the clock pulse-width (code 

word) , 𝑇𝑏 is duration of bit and b is bit value can be “0’, “1’. So we can write the first three output response 

terms as follow: 

𝑋𝑜1
(𝜔, 𝑧) = ∬ 2𝑗𝛾𝑂𝑆𝐶𝑒𝐺1(𝜔)𝑧 (

1 − 𝑒−2𝛼𝑧

2𝛼
) × {𝐴𝑐

′. 𝑇𝑐 . 𝜋. 𝑟𝑒𝑐𝑡(
𝜔1. 𝑇𝑐

2
). ∑ 𝑒−2𝜋𝑗𝐶𝑚.(

𝑇𝑏
𝐹⁄ ).𝜔1

𝐾

𝑚=1

}. 

× {𝑏. 𝐴𝑑 . 𝑇𝑑𝜋. 𝑟𝑒𝑐𝑡 (
𝜔2. 𝑇𝑑

2
) . ∑ 𝑒2𝜋𝑗𝐶𝑚.(

𝑇𝑏
𝐹⁄ ).𝜔2

𝑘

𝑚=1

}. 

× {𝐴𝑐
′. 𝑇𝑐 . 𝜋. 𝑟𝑒𝑐𝑡(

(𝜔 − 𝜔1 + 𝜔2). 𝑇𝑐

2
). ∑ 𝑒−2𝜋𝑗𝐶𝑚.(

𝑇𝑏
𝐹⁄ ).(𝜔−𝜔1+𝜔2)

𝐾

𝑚=1

}𝑑𝜔1𝑑𝜔2 

 

𝑋𝑜2
(𝜔, 𝑧) = ∬ ∬ 2𝛾𝑂𝑆𝐶(𝛾𝑆𝑆 + 2𝛾𝑂𝑆)𝑒𝐺1(𝜔)𝑧 (

1 − 𝑒−2𝛼𝑧

2𝛼
)

2

 

× {𝐴𝑐
′. 𝑇𝑐 . 𝜋. 𝑟𝑒𝑐𝑡(

𝜔1. 𝑇𝑐

2
). ∑ 𝑒−2𝜋𝑗𝐶𝑚.(

𝑇𝑏
𝐹⁄ ).𝜔1

𝐾

𝑚=1

}. 

× {𝑏. 𝐴𝑑 . 𝑇𝑑𝜋. 𝑟𝑒𝑐𝑡(
𝜔2. 𝑇𝑑

2
). ∑ 𝑒2𝜋𝑗𝐶𝑚.(

𝑇𝑏
𝐹⁄ ).𝜔2

𝑘

𝑚=1

} 

× {𝐴𝑐
′. 𝑇𝑐 . 𝜋. 𝑟𝑒𝑐𝑡(

𝜔3. 𝑇𝑐

2
). ∑ 𝑒−2𝜋𝑗𝐶𝑚 .(

𝑇𝑏
𝐹⁄ ).𝜔3

𝐾

𝑚=1

} 

× {𝑏. 𝐴𝑑 . 𝑇𝑑𝜋. 𝑟𝑒𝑐𝑡(
𝜔4. 𝑇𝑑

2
). ∑ 𝑒2𝜋𝑗𝐶𝑚.(

𝑇𝑏
𝐹⁄ ).𝜔4

𝑘

𝑚=1

} 



× {𝐴𝑐
′. 𝑇𝑐 . 𝜋. 𝑟𝑒𝑐𝑡(

(𝜔 − 𝜔1 + ⋯ + 𝜔4). 𝑇𝑐

2
). ∑ 𝑒−2𝜋𝑗𝐶𝑚 .(

𝑇𝑏
𝐹⁄ ).(𝜔−𝜔1+⋯+𝜔4)

𝐾

𝑚=1

} × 𝑑𝜔1 … 𝑑𝜔4 

𝑋𝑜3
(𝜔, 𝑧) = ∬ ∬ 8𝛾𝑂𝑆𝐶(𝛾𝑆𝐶 + 2𝛾𝑂𝐶 )𝑒𝐺1(𝜔)𝑧(

1 − 𝑒−2𝛼𝑧

2𝛼
)2 

× {𝐴𝑐
′. 𝑇𝑐 . 𝜋. 𝑟𝑒𝑐𝑡(

𝜔1. 𝑇𝑐

2
). ∑ 𝑒−2𝜋𝑗𝐶𝑚.(

𝑇𝑏
𝐹⁄ ).𝜔1

𝐾

𝑚=1

}. 

× {𝐴𝑐
′. 𝑇𝑐 . 𝜋. 𝑟𝑒𝑐𝑡(

𝜔2. 𝑇𝑐

2
). ∑ 𝑒2𝜋𝑗𝐶𝑚.(

𝑇𝑏
𝐹⁄ ).𝜔2

𝐾

𝑚=1

} 

× {𝐴𝑐
′. 𝑇𝑐 . 𝜋. 𝑟𝑒𝑐𝑡(

𝜔3. 𝑇𝑐

2
). ∑ 𝑒−2𝜋𝑗𝐶𝑚 .(

𝑇𝑏
𝐹⁄ ).𝜔3

𝐾

𝑚=1

} 

× {𝑏. 𝐴𝑑 . 𝑇𝑑𝜋. 𝑟𝑒𝑐𝑡(
𝜔4. 𝑇𝑑

2
). ∑ 𝑒2𝜋𝑗𝐶𝑚.(

𝑇𝑏
𝐹⁄ ).𝜔4

𝑘

𝑚=1

} 

× {𝐴𝑐
′. 𝑇𝑐 . 𝜋. 𝑟𝑒𝑐𝑡(

(𝜔 − 𝜔1 + ⋯ + 𝜔4). 𝑇𝑐

2
). ∑ 𝑒−2𝜋𝑗𝐶𝑚 .(

𝑇𝑏
𝐹⁄ ).(𝜔−𝜔1+⋯+𝜔4)

𝐾

𝑚=1

} × 𝑑𝜔1 … 𝑑𝜔4 

By calculating the integration in (), (), () and depending on whether 𝑇𝑐 is larger than 𝑇𝑑 or not, we obtain 

different responses in different frequency ranges. By defining f(x) and 𝐸1 as: 

𝑓(𝑥) =
1

2𝜋𝑗(
𝑇𝑏

𝐹⁄ )
 𝑒−2𝜋𝑗(

𝑇𝑏
𝐹⁄ ).𝑥  

, 𝐸1 = 2𝜋3𝑏𝑗𝛾𝑂𝑆𝐶 𝑒𝐺1(𝜔)𝑧 (
1 − 𝑒−2𝛼𝑧

2𝛼
) 𝐴𝑑𝐴𝑐

′ 2
𝑇𝑑𝑇𝑐

2 

Then, for 𝑇𝑑 > 𝑇𝑐, 𝑋𝑜1
 would be: 

(1) For  𝜔 >
2

𝑇𝑐
+

1

𝑇𝑑
        →   𝑋𝑜1

(𝜔, 𝑧) = 0   

(2) For     
1

𝑇𝑑
< 𝜔 <

2

𝑇𝑐
+

1

𝑇𝑑
 

𝑋𝑜1
(𝜔, 𝑧) = 𝐸1 ∑ ∑ ∑   

1

(𝐶𝑙 − 𝐶𝑚)
.

2𝜋𝑗(
𝑇𝑏

𝐹⁄ )

(𝐶𝑖 + 𝐶𝑚 − 2𝐶𝑙)
𝑓 ((𝐶𝑙 − 𝐶𝑖)

2

𝑇𝑐

) . 𝑓 ((𝐶𝑖 − 𝐶𝑚 − 2𝐶𝑙) (
1

𝑇𝑑

)) . 𝑓(𝐶𝑖(𝜔))
𝐾

𝑙=1

𝐾

𝑖=1

𝐾

𝑚=1

 

 

 

(3) For   
−2

𝑇𝑐
+

1

𝑇𝑑
< 𝜔 <

1

𝑇𝑑
 

 



𝑋𝑜1
(𝜔, 𝑧) = 𝐸1 ∑ ∑ ∑

2𝜋𝑗(
𝑇𝑏

𝐹⁄ )

(𝐶𝑙 − 𝐶𝑚).
. {

1

(𝐶𝑖 − 𝐶𝑚)
𝑓(𝐶𝑖𝜔)𝑓((𝐶𝑚 − 𝐶𝑙) (

2

𝑇𝑐

))

𝐾

𝑙=1

𝐾

𝑖=1

𝐾

𝑚=1

 . 𝑓((𝐶𝑚 − 𝐶𝑖) (
1

𝑇𝑑

)) 

 + 
1

(𝐶𝑖 + 𝐶𝑚 − 2𝐶𝑙)
𝑓((2𝐶𝑙 − 𝐶𝑖)𝜔)𝑓((𝐶𝑚 − 𝐶𝑙) (

2

𝑇𝑐

))𝑓((𝐶𝑖 + 𝐶𝑚 − 2𝐶𝑙)(
1

𝑇𝑑

))} 

(4) For  
−2

𝑇𝑐
−

1

𝑇𝑑
< 𝜔 <  

−2

𝑇𝑐
+

1

𝑇𝑑
 

 

𝑋𝑜1
(𝜔, 𝑧) = 𝐸1 ∑ ∑ ∑

2𝜋𝑗 (
𝑇𝑏

𝐹⁄ )

(𝐶𝑚 − 𝐶𝑙)

1

(𝐶𝑖 − 𝐶𝑚)
𝑓((2𝐶𝑚 − 𝐶𝑖)𝜔)

𝐾

𝑙=1

𝐾

𝑖=1

𝐾

𝑚=1

𝑓((2𝐶𝑚 − 𝐶𝑙 − 𝐶𝑖) (
2

𝑇𝑐

))𝑓((𝐶𝑖 − 𝐶𝑚)(
1

𝑇𝑑

)) 

(5) For  𝜔 <  
−2

𝑇𝑐
−

1

𝑇𝑑
            →              𝑋𝑜1

(𝜔, 𝑧) = 0 

When the pulse-width of the data is smaller than the pulse-width of clock ( 

𝑇𝑑 < 𝑇𝑐 ) we have: 

 (1) For   𝜔 >  
2

𝑇𝑐
+

1

𝑇𝑑
          →   𝑋𝑜1

(𝜔, 𝑧) = 0   

(2) For      
1

𝑇𝑑
< 𝜔 <

2

𝑇𝑐
+

1

𝑇𝑑
 

𝑋𝑜1
(𝜔, 𝑧) = 𝐸1 ∑ ∑ ∑   

1

(𝐶𝑙 − 𝐶𝑚)
.

2𝜋𝑗 (
𝑇𝑏

𝐹⁄ )

(𝐶𝑖 + 𝐶𝑚 − 2𝐶𝑙)
𝑓((𝐶𝑙 − 𝐶𝑖)

2

𝑇𝑐

)𝑓((𝐶𝑖 − 𝐶𝑚 − 2𝐶𝑙) (
1

𝑇𝑑

))𝑓(𝐶𝑖(𝜔))

𝐾

𝑙=1

𝐾

𝑖=1

𝐾

𝑚=1

 

(3) For     
2

𝑇𝑐
−

1

𝑇𝑑
< 𝜔 <

1

𝑇𝑑
 

𝑋𝑜1
(𝜔, 𝑧) = 𝐸1 ∑ ∑ ∑

1

(𝐶𝑙 − 𝐶𝑚)
{
2𝜋𝑗 (

𝑇𝑏
𝐹⁄ )

(𝐶𝑖 − 𝐶𝑚)
𝑓(𝐶𝑖(𝜔))𝑓((𝐶𝑚 − 𝐶𝑙) (

2

𝑇𝑐

))

𝐾

𝑙=1

𝐾

𝑖=1

𝐾

𝑚=1

𝑓((𝐶𝑖 − 𝐶𝑚) (
1

𝑇𝑑

)) 

 + 
1

(𝐶𝑖 + 𝐶𝑚 − 2𝐶𝑙)
𝑓((𝐶𝑚 − 2𝐶𝑙)(𝜔))𝑓((𝐶𝑙 − 𝐶𝑖) (

2

𝑇𝑐

)) 

 

(4) For   
−2

𝑇𝑐
+

1

𝑇𝑑
< 𝜔 <  

2

𝑇𝑐
−

1

𝑇𝑑
 

𝑋𝑜1
(𝜔, 𝑧) = 𝐸1 ∑ ∑ ∑

2𝜋𝑗(
𝑇𝑏

𝐹⁄ )

(𝐶𝑙 − 𝐶𝑚)
. {

1

(𝐶𝑖 − 𝐶𝑚)
𝑓(𝐶𝑖(𝜔))𝑓((𝐶𝑚 − 𝐶𝑙) (

2

𝑇𝑐

)

𝐾

𝑙=1

𝐾

𝑖=1

𝐾

𝑚=1

 )𝑓((𝐶𝑖 − 𝐶𝑚) (
1

𝑇𝑑

)) 

 + 
1

(𝐶𝑖 + 𝐶𝑚 − 2𝐶𝑙)
𝑓((2𝐶𝑙 − 𝐶𝑖)(𝜔))𝑓((𝐶𝑚 − 𝐶𝑙) (

2

𝑇𝑐

))𝑓((𝐶𝑖 + 𝐶𝑚 − 2𝐶𝑙)(
1

𝑇𝑑

))} 

(5) For     −
1

𝑇𝑑
< 𝜔 <  

−2

𝑇𝑐
+

1

𝑇𝑑
 



𝑋𝑜1
(𝜔, 𝑧) = 𝐸1 ∑ ∑ ∑

1

(𝐶𝑙 − 𝐶𝑚)
. {

1

(𝐶𝑖 − 𝐶𝑚)
𝑓(𝐶𝑚(𝜔))𝑓((𝐶𝑙 + 𝐶𝑖 − 2𝐶𝑚) (

2

𝑇𝑐

))

𝐾

𝑙=1

𝐾

𝑖=1

𝐾

𝑚=1

  

+ 
2𝜋𝑗 (

𝑇𝑏
𝐹⁄ )

(𝐶𝑖 + 𝐶𝑚 − 2𝐶𝑙)
𝑓((2𝐶𝑙 − 𝐶𝑖)(𝜔))𝑓((𝐶𝑚 − 𝐶𝑙) (

2

𝑇𝑐

))𝑓((𝐶𝑖 + 𝐶𝑚 − 2𝐶𝑙)(
1

𝑇𝑑

))} 

(6)  For    
−2

𝑇𝑐
−

1

𝑇𝑑
< 𝜔 < −

1

𝑇𝑑
 

𝑋𝑜1
(𝜔, 𝑧) = 𝐸1 ∑ ∑ ∑

2𝜋𝑗 (
𝑇𝑏

𝐹⁄ )

(𝐶𝑙 − 𝐶𝑚)

1

(𝐶𝑖 − 𝐶𝑚)
𝑓((2𝐶𝑚 − 𝐶𝑖)(𝜔))

𝐾

𝑙=1

𝐾

𝑖=1

𝐾

𝑚=1

𝑓((2𝐶𝑚 − 𝐶𝑙 − 𝐶𝑖) (
2

𝑇𝑐

))𝑓((𝐶𝑚 − 𝐶𝑖)(
1

𝑇𝑑

)) 

 (7) For      𝜔 <
−2

𝑇𝑐
−

1

𝑇𝑑
 

𝑋𝑜1
(𝜔, 𝑧) = 0 

For calculating the 𝑋𝑜2
(𝜔, 𝑧) and by defining S, 𝑆1, 𝑆2, 𝑆3, 𝑆4 and 𝐸2 as: 

𝐸2 = 2𝜋5𝐴𝑐
′ 3

𝑇𝑐
3𝑏2𝐴𝑑

2 𝑇𝑑
2𝛾𝑂𝑆𝐶 (𝛾𝑆𝑆 + 2𝛾𝑂𝑆)𝑒𝐺1(𝜔)𝑧 (

1 − 𝑒−2𝛼𝑧

2𝛼
)

2

 

, 𝑆 =
1

2𝜋𝑗(𝐶𝑚 − 𝐶𝑙). (
𝑇𝑏

𝐹⁄ )
        

, 𝑆1 =
1

−2𝜋𝑗(𝐶𝑝 − 𝐶𝑚). (
𝑇𝑏

𝐹⁄ )
    

, 𝑆2 =
1

−2𝜋𝑗(𝐶𝑝 + 𝐶𝑚 − 2𝐶𝑙). (
𝑇𝑏

𝐹⁄ )
 

, 𝑆3 =
1

2𝜋𝑗(𝐶𝑛 + 𝐶𝑝 − 2𝐶𝑚). (
𝑇𝑏

𝐹⁄ )
 

, 𝑆4 =
1

2𝜋𝑗(𝐶𝑛 − 𝐶𝑝). (
𝑇𝑏

𝐹⁄ )
 

Then, for 𝑇𝑑 > 𝑇𝑐 , 𝑋𝑜2
would be: 

 

(1)        𝜔 >
3

𝑇𝑐
+

2

𝑇𝑑
        

 

𝑋𝑜2
(𝜔, 𝑧) = 0 

 

(2)       
3

𝑇𝑐
< 𝜔 <

3

𝑇𝑐
+

2

𝑇𝑑
 

𝑋𝑜2
(𝜔, 𝑧) = 𝐸2 ∑ ∑ ∑ ∑ ∑ 𝑆. 𝑆1. 𝑆3.

1

2𝜋𝑗(𝐶𝑖 − 𝐶𝑛). (
𝑇𝑏

𝐹⁄ )
𝑒

2𝜋𝑗(3𝐶𝑖−2𝐶𝑙−𝐶𝑚).(
𝑇𝑏

𝐹⁄ ).(
1
𝑇𝑐

)

𝑘

𝑙=

𝑘

𝑖=1

𝑘

𝑝=1

𝑘

𝑛=1

𝑘

𝑚=1

. 𝑒
2𝜋𝑗(2𝐶𝑖−𝐶𝑛+𝐶𝑝−2𝐶𝑚).(

𝑇𝑏
𝐹⁄ ).(

1
𝑇𝑑

)
 



. 𝑒−2𝜋𝑗𝐶𝑖.(
𝑇𝑏

𝐹⁄ ).𝜔
 

 

(3)      
1

𝑇𝑐
+

2

𝑇𝑑
< 𝜔 <

3

𝑇𝑐
 

𝑋𝑜2
(𝜔, 𝑧) = 𝐸2 ∑ ∑ ∑ ∑ ∑ 𝑆. 𝑆1. 𝑆3. {

1

2𝜋𝑗(𝐶𝑖 + 𝐶𝑝 − 2𝐶𝑚). (
𝑇𝑏

𝐹⁄ )
𝑒

2𝜋𝑗(3𝐶𝑖−2𝐶𝑙−𝐶𝑚).(
𝑇𝑏

𝐹⁄ ).(
1
𝑇𝑐

)

𝑘

𝑙=

𝑘

𝑖=1

𝑘

𝑝=1

𝑘

𝑛=1

𝑘

𝑚=1

. 𝑒
2𝜋𝑗(𝐶𝑖+𝐶𝑛+2𝐶𝑝−2𝐶𝑚).(

𝑇𝑏
𝐹⁄ ).(

2
𝑇𝑑

)
. 

𝑒−2𝜋𝑗𝐶𝑖.(
𝑇𝑏

𝐹⁄ ).𝜔 +
1

2𝜋𝑗(𝐶𝑖 − 𝐶𝑛). (
𝑇𝑏

𝐹⁄ )
𝑒

2𝜋𝑗(−3𝐶𝑖+6𝐶𝑛−2𝐶𝑙−𝐶𝑚).(
𝑇𝑏

𝐹⁄ ).(
1
𝑇𝑐

)
. 𝑒

2𝜋𝑗(2𝐶𝑖−𝐶𝑛+𝐶𝑝−2𝐶𝑚).(
𝑇𝑏

𝐹⁄ ).(
1

𝑇𝑑
)
. 𝑒−2𝜋𝑗(𝐶𝑖−2𝐶𝑛).(

𝑇𝑏
𝐹⁄ ).𝜔

 

. 

(4)   
3

𝑇𝑐
+

2

𝑇𝑑
< 𝜔 <

1

𝑇𝑐
+

2

𝑇𝑑
 

 
 

𝑋𝑜2
(𝜔, 𝑧) = 𝐸2 ∑ ∑ ∑ ∑ ∑ 𝑆. 𝑆2. 𝑆4.

1

2𝜋𝑗(𝐶𝑖 − 𝐶𝑛). (
𝑇𝑏

𝐹⁄ )
𝑒

2𝜋𝑗(𝐶𝑖−𝐶𝑚).(
𝑇𝑏

𝐹⁄ ).(
1
𝑇𝑐

)
. 𝑒

2𝜋𝑗(2𝐶𝑖−𝐶𝑛+𝐶𝑝).(
𝑇𝑏

𝐹⁄ ).(
1

𝑇𝑑
)
. 𝑒−2𝜋𝑗𝐶𝑖.(

𝑇𝑏
𝐹⁄ ).𝜔

𝑘

𝑙=

𝑘

𝑖=1

𝑘

𝑝=1

𝑘

𝑛=1

𝑘

𝑚=1

 

+𝑆. 𝑆1. 𝑆3.
1

2𝜋𝑗(𝐶𝑖−𝐶𝑛).(
𝑇𝑏

𝐹⁄ )
𝑒

2𝜋𝑗(𝐶𝑖+𝐶𝑚−2𝐶𝑙).(
𝑇𝑏

𝐹⁄ ).(
1

𝑇𝑐
)
. 𝑒

2𝜋𝑗(2𝐶𝑖+𝐶𝑝−𝐶𝑛−2𝐶𝑚).(
𝑇𝑏

𝐹⁄ ).(
1

𝑇𝑑
)
. 𝑒−2𝜋𝑗(𝐶𝑖).(

𝑇𝑏
𝐹⁄ )(𝜔)

 

𝑆. 𝑆1. 𝑆3.
1

2𝜋𝑗(𝐶𝑖 − 𝐶𝑛 + 2𝐶𝑝 − 4𝐶𝑚). (
𝑇𝑏

𝐹⁄ )
𝑒

2𝜋𝑗(𝐶𝑖+3𝐶𝑚−2𝐶𝑙−2𝐶𝑝).(
𝑇𝑏

𝐹⁄ ).(
1
𝑇𝑐

)
. 𝑒

2𝜋𝑗(2𝐶𝑖+5𝐶𝑝+3𝐶𝑛−10𝐶𝑚).(
𝑇𝑏

𝐹⁄ ).(
1

𝑇𝑑
)
. 𝑒−2𝜋𝑗(𝐶𝑖).(

𝑇𝑏
𝐹⁄ )(𝜔)

 

+𝑆. 𝑆1. 𝑆3.
1

2𝜋𝑗(𝐶𝑛 + 𝐶𝑝 − 2𝐶𝑚). (
𝑇𝑏

𝐹⁄ )
𝑒

2𝜋𝑗(𝐶𝑚−𝐶𝑝+2𝐶𝑖−2𝐶𝑙).(
𝑇𝑏

𝐹⁄ ).(
1
𝑇𝑐

)
. 𝑒

2𝜋𝑗(𝐶𝑛−𝐶𝑖).(
𝑇𝑏

𝐹⁄ ).(
2

𝑇𝑑
)
. 𝑒−2𝜋𝑗(𝐶𝑝−2𝐶𝑚).(

𝑇𝑏
𝐹⁄ )(𝜔)

 

+𝑆. 𝑆1. 𝑆3.
1

2𝜋𝑗(𝐶𝑖 − 𝐶𝑛). (
𝑇𝑏

𝐹⁄ )
 𝑒

2𝜋𝑗(6𝐶𝑛−2𝐶𝑙−𝐶𝑚−3𝐶𝑖).(
𝑇𝑏

𝐹⁄ ).(
1
𝑇𝑐

)
. 𝑒

2𝜋𝑗(2𝐶𝑖−𝐶𝑛+𝐶𝑝−2𝐶𝑚).(
𝑇𝑏

𝐹⁄ ).(
1

𝑇𝑑
)
. 𝑒−2𝜋𝑗(𝐶𝑖−2𝐶𝑛).(

𝑇𝑏
𝐹⁄ )(𝜔)

 

(5)  
1

𝑇𝑐
< 𝜔 <

3

𝑇𝑐
+

2

𝑇𝑑
 

𝑋𝑜2
(𝜔, 𝑧) = 𝐸2 ∑ ∑ ∑ ∑ ∑ 𝑆. 𝑆2. 𝑆4.

1

2𝜋𝑗(𝐶𝑖 − 𝐶𝑛). (
𝑇𝑏

𝐹⁄ )
𝑒

2𝜋𝑗(𝐶𝑖−𝐶𝑚).(
𝑇𝑏

𝐹⁄ ).(
1
𝑇𝑐

)
. 𝑒

2𝜋𝑗(2𝐶𝑖−𝐶𝑛+𝐶𝑝).(
𝑇𝑏

𝐹⁄ ).(
1

𝑇𝑑
)
. 𝑒−2𝜋𝑗𝐶𝑖.(

𝑇𝑏
𝐹⁄ ).𝜔

𝑘

𝑙=

𝑘

𝑖=1

𝑘

𝑝=1

𝑘

𝑛=1

𝑘

𝑚=1

 

+𝑆. 𝑆1. 𝑆3.
1

2𝜋𝑗(𝐶𝑖−𝐶𝑛).(
𝑇𝑏

𝐹⁄ )
𝑒

2𝜋𝑗(𝐶𝑖+𝐶𝑚−2𝐶𝑙).(
𝑇𝑏

𝐹⁄ ).(
1

𝑇𝑐
)
. 𝑒

2𝜋𝑗(2𝐶𝑖+𝐶𝑝−𝐶𝑛−2𝐶𝑚).(
𝑇𝑏

𝐹⁄ ).(
1

𝑇𝑑
)
. 𝑒−2𝜋𝑗(𝐶𝑖).(

𝑇𝑏
𝐹⁄ )(𝜔)

 

𝑆. 𝑆1. 𝑆3.
1

2𝜋𝑗(𝐶𝑖 − 𝐶𝑛 + 2𝐶𝑝 − 4𝐶𝑚). (
𝑇𝑏

𝐹⁄ )
𝑒

2𝜋𝑗(𝐶𝑖+3𝐶𝑚−2𝐶𝑙−2𝐶𝑝).(
𝑇𝑏

𝐹⁄ ).(
1
𝑇𝑐

)
. 𝑒

2𝜋𝑗(2𝐶𝑖+5𝐶𝑝+3𝐶𝑛−10𝐶𝑚).(
𝑇𝑏

𝐹⁄ ).(
1

𝑇𝑑
)
. 𝑒−2𝜋𝑗(𝐶𝑖).(

𝑇𝑏
𝐹⁄ )(𝜔)

 

+𝑆. 𝑆1. 𝑆3.
1

2𝜋𝑗(𝐶𝑛 + 𝐶𝑝 − 2𝐶𝑚). (
𝑇𝑏

𝐹⁄ )
𝑒

2𝜋𝑗(7𝐶𝑚−4𝐶𝑝−2𝐶𝑙−𝐶𝑖).(
𝑇𝑏

𝐹⁄ ).(
1
𝑇𝑐

)
. 𝑒

2𝜋𝑗(𝐶𝑛+𝐶𝑝−2𝐶𝑚).(
𝑇𝑏

𝐹⁄ ).(
2

𝑇𝑑
)
. 𝑒−2𝜋𝑗(2𝐶𝑝−𝐶𝑖−4𝐶𝑚).(

𝑇𝑏
𝐹⁄ )(𝜔)

 

(6)     
−1

𝑇𝑐
+

2

𝑇𝑑
< 𝜔 <

1

𝑇𝑐
 

𝑋𝑜2
(𝜔, 𝑧) = 𝐸2 ∑ ∑ ∑ ∑ ∑ 𝑆. 𝑆2. 𝑆4.

1

2𝜋𝑗(𝐶𝑖 − 𝐶𝑝). (
𝑇𝑏

𝐹⁄ )
𝑒

2𝜋𝑗(𝐶𝑖−𝐶𝑚).(
𝑇𝑏

𝐹⁄ ).(
1
𝑇𝑐

)
. 𝑒

2𝜋𝑗(𝐶𝑛−𝐶𝑝).(
𝑇𝑏

𝐹⁄ ).(
2

𝑇𝑑
)
. 𝑒−2𝜋𝑗𝐶𝑖.(

𝑇𝑏
𝐹⁄ ).𝜔

𝑘

𝑙=

𝑘

𝑖=1

𝑘

𝑝=1

𝑘

𝑛=1

𝑘

𝑚=1

 



+𝑆. 𝑆1. 𝑆3.
1

2𝜋𝑗(𝐶𝑖 + 𝐶𝑝 − 2𝐶𝑚). (
𝑇𝑏

𝐹⁄ )
𝑒

2𝜋𝑗(𝐶𝑚−2𝐶𝑙+𝐶𝑖).(
𝑇𝑏

𝐹⁄ ).(
1
𝑇𝑐

)
. 𝑒

2𝜋𝑗(𝐶𝑛+𝐶𝑝−2𝐶𝑚).(
𝑇𝑏

𝐹⁄ ).(
2

𝑇𝑑
)
. 𝑒−2𝜋𝑗𝐶𝑖.(

𝑇𝑏
𝐹⁄ )(𝜔)

 

+𝑆. 𝑆2. 𝑆4.
1

2𝜋𝑗(𝐶𝑖−𝐶𝑛).(
𝑇𝑏

𝐹⁄ )
𝑒

2𝜋𝑗(𝐶𝑖−𝐶𝑚).(
𝑇𝑏

𝐹⁄ ).(
1

𝑇𝑐
)
. 𝑒

2𝜋𝑗(2𝐶𝑖−𝐶𝑝−𝐶𝑛).(
𝑇𝑏

𝐹⁄ ).(
1

𝑇𝑑
)
. 𝑒−2𝜋𝑗(𝐶𝑖−2𝐶𝑛).(

𝑇𝑏
𝐹⁄ ).𝜔

 

+𝑆. 𝑆1. 𝑆3.
1

2𝜋𝑗(𝐶𝑖−𝐶𝑛).(
𝑇𝑏

𝐹⁄ )
𝑒

2𝜋𝑗(2𝐶𝑛−𝐶𝑖+𝐶𝑚−2𝐶𝑙).(
𝑇𝑏

𝐹⁄ ).(
1

𝑇𝑐
)
. 𝑒

2𝜋𝑗(2𝐶𝑖+𝐶𝑝−𝐶𝑛−2𝐶𝑚).(
𝑇𝑏

𝐹⁄ ).(
1

𝑇𝑑
)
. 𝑒−2𝜋𝑗(𝐶𝑖−2𝐶𝑛).(

𝑇𝑏
𝐹⁄ )(𝜔)

 

𝑆. 𝑆1. 𝑆3.
1

2𝜋𝑗(𝐶𝑖 + 𝐶𝑛 + 2𝐶𝑝 − 4𝐶𝑚). (
𝑇𝑏

𝐹⁄ )
𝑒

2𝜋𝑗(9𝐶𝑚−𝐶𝑖−𝐶𝑛−2𝐶𝑙−5𝐶𝑝).(
𝑇𝑏

𝐹⁄ ).(
1
𝑇𝑐

)
. 𝑒

2𝜋𝑗(2𝐶𝑖+5𝐶𝑝+3𝐶𝑛−10𝐶𝑚).(
𝑇𝑏

𝐹⁄ ).(
1

𝑇𝑑
)
. 𝑒2𝜋𝑗(𝐶𝑖+4𝐶𝑝+2𝐶𝑛−8𝐶𝑚).(

𝑇𝑏
𝐹⁄ )(𝜔)

 

 

(7)         
1

𝑇𝑐
−

2

𝑇𝑑
< 𝜔 <

−1

𝑇𝑐
+

2

𝑇𝑑
 

𝑋𝑜2
(𝜔, 𝑧)

= 𝐸2 ∑ ∑ ∑ ∑ ∑{
𝑆. 𝑆1. 𝑆4

2𝜋𝑗(𝐶𝑖 − 𝐶𝑛). (
𝑇𝑏

𝐹⁄ )
𝑒−2𝜋𝑗𝐶𝑖.(

𝑇𝑏
𝐹⁄ ).𝜔. 𝑒

2𝜋𝑗(5𝐶𝑚−2𝐶𝑙−3𝐶𝑝−𝐶𝑖).(
𝑇𝑏

𝐹⁄ ).(
1
𝑇𝑐

)
. 𝑒

2𝜋𝑗(2𝐶𝑖−𝐶𝑛−𝐶𝑝).(
𝑇𝑏

𝐹⁄ ).(
1

𝑇𝑑
)

𝑘

𝑙=

𝑘

𝑖=1

𝑘

𝑝=1

𝑘

𝑛=1

𝑘

𝑚=1

 

+
𝑆. 𝑆2. 𝑆4

2𝜋𝑗(𝐶𝑛 + 𝐶𝑖 − 2𝐶𝑝). (
𝑇𝑏

𝐹⁄ )
𝑒−2𝜋𝑗𝐶𝑖.(

𝑇𝑏
𝐹⁄ ).𝜔. 𝑒

2𝜋𝑗(2𝐶𝑝−𝐶𝑚−𝐶𝑖).(
𝑇𝑏

𝐹⁄ ).(
1
𝑇𝑐

)
. 𝑒

2𝜋𝑗(2𝐶𝑖+3𝐶𝑛−5𝐶𝑝).(
𝑇𝑏

𝐹⁄ ).(
1

𝑇𝑑
)

+ 

𝑆. 𝑆1. 𝑆3

2𝜋𝑗(2𝐶𝑝 + 𝐶𝑛 + 𝐶𝑖 − 4𝐶𝑚). (
𝑇𝑏

𝐹⁄ )
𝑒−2𝜋𝑗(𝐶𝑖).(

𝑇𝑏
𝐹⁄ ).𝜔. 𝑒

2𝜋𝑗(5𝐶𝑚−2𝐶𝑝−2𝐶𝑙−𝐶𝑖).(
𝑇𝑏

𝐹⁄ ).(
1
𝑇𝑐

)
. 𝑒

2𝜋𝑗(2𝐶𝑖+3𝐶𝑛+5𝐶𝑝−10𝐶𝑚).(
𝑇𝑏

𝐹⁄ ).(
1

𝑇𝑑
)
 

+
𝑆. 𝑆2. 𝑆4

2𝜋𝑗(𝐶𝑖 − 𝐶𝑛). (
𝑇𝑏

𝐹⁄ )
𝑒−2𝜋𝑗𝐶𝑝 .(

𝑇𝑏
𝐹⁄ ).𝜔. 𝑒

2𝜋𝑗(2𝐶𝑖−𝐶𝑚−𝐶𝑝).(
𝑇𝑏

𝐹⁄ ).(
1
𝑇𝑐

)
. 𝑒

2𝜋𝑗(𝐶𝑛−𝐶𝑖).(
𝑇𝑏

𝐹⁄ ).(
1

𝑇𝑑
)

+ 

𝑆. 𝑆1. 𝑆3

2𝜋𝑗(𝐶𝑖 + 𝐶𝑝 − 2𝐶𝑚). (
𝑇𝑏

𝐹⁄ )
𝑒−2𝜋𝑗(2𝐶𝑚−𝐶𝑝).(

𝑇𝑏
𝐹⁄ )(𝜔). 𝑒

2𝜋𝑗(2𝐶𝑖+𝐶𝑝−𝐶𝑚−2𝐶𝑙).(
𝑇𝑏

𝐹⁄ ).(
1
𝑇𝑐

)
. 𝑒

2𝜋𝑗(𝐶𝑛−𝐶𝑝+2𝐶𝑚−2𝐶𝑖).(
𝑇𝑏

𝐹⁄ ).(
1

𝑇𝑑
)
 

+
𝑆. 𝑆2. 𝑆4

2𝜋𝑗(𝐶𝑖 − 𝐶𝑛). (
𝑇𝑏

𝐹⁄ )
𝑒−2𝜋𝑗(𝐶𝑖−2𝐶𝑛).(

𝑇𝑏
𝐹⁄ ).𝜔. 𝑒

2𝜋𝑗(2𝐶𝑛−𝐶𝑚−𝐶𝑖).(
𝑇𝑏

𝐹⁄ ).(
1
𝑇𝑐

)
. 𝑒

2𝜋𝑗(2𝐶𝑖−𝐶𝑛−𝐶𝑝).(
𝑇𝑏

𝐹⁄ ).(
1

𝑇𝑑
)

+ 

 
𝑆. 𝑆1. 𝑆3

2𝜋𝑗(𝐶𝑖 − 𝐶𝑛). (
𝑇𝑏

𝐹⁄ )
𝑒−2𝜋𝑗(𝐶𝑖−2𝐶𝑛).(

𝑇𝑏
𝐹⁄ ).𝜔. 𝑒

2𝜋𝑗(𝐶𝑚+2𝐶𝑛−2𝐶𝑙−𝐶𝑖).(
𝑇𝑏

𝐹⁄ ).(
1
𝑇𝑐

)
. 𝑒

2𝜋𝑗(2𝐶𝑖+𝐶𝑝−𝐶𝑛−2𝐶𝑚).(
𝑇𝑏

𝐹⁄ ).(
1

𝑇𝑑
)
 

+

𝑆.𝑆1.𝑆3

2𝜋𝑗(2𝐶𝑝+𝐶𝑛+𝐶𝑖−4𝐶𝑚).(
𝑇𝑏

𝐹⁄ )
𝑒−2𝜋𝑗(𝐶𝑖+2𝐶𝑛+4𝐶𝑝−8𝐶𝑚).(

𝑇𝑏
𝐹⁄ ).𝜔. 𝑒

2𝜋𝑗(11𝐶𝑚−6𝐶𝑝−2𝐶𝑙−2𝐶𝑛−𝐶𝑖).(
𝑇𝑏

𝐹⁄ ).(
1

𝑇𝑐
)
. 𝑒

2𝜋𝑗(2𝐶𝑖+3𝐶𝑛+5𝐶𝑝−10𝐶𝑚).(
𝑇𝑏

𝐹⁄ ).(
1

𝑇𝑑
)
 

 

(8)      
−3

𝑇𝑐
+

2

𝑇𝑑
< 𝜔 <

−1

𝑇𝑐
 

𝑋𝑜2
(𝜔, 𝑧)

= 𝐸2 ∑ ∑ ∑ ∑ ∑{
𝑆. 𝑆1. 𝑆4

2𝜋𝑗(𝐶𝑖 − 𝐶𝑛). (
𝑇𝑏

𝐹⁄ )
𝑒−2𝜋𝑗𝐶𝑖.(

𝑇𝑏
𝐹⁄ ).𝜔. 𝑒

2𝜋𝑗(5𝐶𝑚−2𝐶𝑙−3𝐶𝑝−𝐶𝑖).(
𝑇𝑏

𝐹⁄ ).(
1
𝑇𝑐

)
. 𝑒

2𝜋𝑗(2𝐶𝑖−𝐶𝑛−𝐶𝑝).(
𝑇𝑏

𝐹⁄ ).(
1

𝑇𝑑
)

𝑘

𝑙=

𝑘

𝑖=1

𝑘

𝑝=1

𝑘

𝑛=1

𝑘

𝑚=1

 

 

+
𝑆. 𝑆2. 𝑆4

2𝜋𝑗(𝐶𝑛 + 𝐶𝑖 − 2𝐶𝑝). (
𝑇𝑏

𝐹⁄ )
𝑒−2𝜋𝑗𝐶𝑖.(

𝑇𝑏
𝐹⁄ ).𝜔. 𝑒

2𝜋𝑗(2𝐶𝑝−𝐶𝑚−𝐶𝑖).(
𝑇𝑏

𝐹⁄ ).(
1
𝑇𝑐

)
. 𝑒

2𝜋𝑗(2𝐶𝑖+3𝐶𝑛−5𝐶𝑝).(
𝑇𝑏

𝐹⁄ ).(
1

𝑇𝑑
)

+ 

 
𝑆. 𝑆1. 𝑆3

2𝜋𝑗(2𝐶𝑝 + 𝐶𝑛 + 𝐶𝑖 − 4𝐶𝑚). (
𝑇𝑏

𝐹⁄ )
𝑒−2𝜋𝑗(𝐶𝑖).(

𝑇𝑏
𝐹⁄ ).𝜔. 𝑒

2𝜋𝑗(5𝐶𝑚−2𝐶𝑝−2𝐶𝑙−𝐶𝑖).(
𝑇𝑏

𝐹⁄ ).(
1
𝑇𝑐

)
. 𝑒

2𝜋𝑗(2𝐶𝑖+3𝐶𝑛+5𝐶𝑝−10𝐶𝑚).(
𝑇𝑏

𝐹⁄ ).(
1

𝑇𝑑
)
 

 



+
𝑆. 𝑆2. 𝑆4

2𝜋𝑗(𝐶𝑖 − 𝐶𝑛). (
𝑇𝑏

𝐹⁄ )
𝑒−2𝜋𝑗(𝐶𝑖−2𝐶𝑝).(

𝑇𝑏
𝐹⁄ ).𝜔. 𝑒

2𝜋𝑗(𝐶𝑖−𝐶𝑚).(
𝑇𝑏

𝐹⁄ ).(
1
𝑇𝑐

)
. 𝑒

2𝜋𝑗2𝐶𝑛−2𝐶𝑝).(
𝑇𝑏

𝐹⁄ ).(
1

𝑇𝑑
)
 

𝑆. 𝑆1. 𝑆3

2𝜋𝑗(𝐶𝑖 + 𝐶𝑝 − 2𝐶𝑚). (
𝑇𝑏

𝐹⁄ )
𝑒−2𝜋𝑗(𝐶𝑖+2𝐶𝑝−2𝐶𝑚).(

𝑇𝑏
𝐹⁄ )(𝜔). 𝑒

2𝜋𝑗(𝐶𝑚+𝐶𝑖−2𝐶𝑙).(
𝑇𝑏

𝐹⁄ ).(
1
𝑇𝑐

)
. 𝑒

2𝜋𝑗(2𝐶𝑛+2𝐶𝑝−4𝐶𝑚).(
𝑇𝑏

𝐹⁄ ).(
1

𝑇𝑑
)
 

 

(9)        −
3

𝑇𝑐
+

2

𝑇𝑑
< 𝜔 < −

1

𝑇𝑐
 

𝑋𝑜2
(𝜔, 𝑧) = 𝐸2 ∑ ∑ ∑ ∑ ∑{

𝑆. 𝑆1. 𝑆4

2𝜋𝑗(𝐶𝑖 − 𝐶𝑝). (
𝑇𝑏

𝐹⁄ )
𝑒−2𝜋𝑗𝐶𝑖.(

𝑇𝑏
𝐹⁄ ).𝜔. 𝑒

2𝜋𝑗(5𝐶𝑚−2𝐶𝑙−2𝐶𝑝−𝐶𝑖).(
𝑇𝑏

𝐹⁄ ).(
1
𝑇𝑐

)
. 𝑒

2𝜋𝑗(2𝐶𝑛−2𝐶𝑝).(
𝑇𝑏

𝐹⁄ ).(
1

𝑇𝑑
)

𝑘

𝑙=

𝑘

𝑖=1

𝑘

𝑝=1

𝑘

𝑛=1

𝑘

𝑚=1

 

𝑆. 𝑆1. 𝑆4

2𝜋𝑗(𝐶𝑖 − 𝐶𝑛). (
𝑇𝑏

𝐹⁄ )
𝑒−2𝜋𝑗(2𝐶𝑛−𝐶𝑖).(

𝑇𝑏
𝐹⁄ ).𝜔. 𝑒

2𝜋𝑗(5𝐶𝑚−2𝐶𝑙−3𝐶𝑝+𝐶𝑖−2𝐶𝑛).(
𝑇𝑏

𝐹⁄ ).(
1
𝑇𝑐

)
. 𝑒

2𝜋𝑗(2𝐶𝑖−𝐶𝑛−𝐶𝑝).(
𝑇𝑏

𝐹⁄ ).(
1

𝑇𝑑
)
 

𝑆. 𝑆2. 𝑆4

2𝜋𝑗(𝐶𝑛 + 𝐶𝑖 − 2𝐶𝑝). (
𝑇𝑏

𝐹⁄ )
𝑒−2𝜋𝑗(2𝐶𝑛−4𝐶𝑝+𝐶𝑖).(

𝑇𝑏
𝐹⁄ ).𝜔. 𝑒

2𝜋𝑗(2𝐶𝑛−2𝐶𝑝−𝐶𝑚+𝐶𝑖).(
𝑇𝑏

𝐹⁄ ).(
1
𝑇𝑐

)
. 𝑒

2𝜋𝑗(2𝐶𝑖+3𝐶𝑛−5𝐶𝑝).(
𝑇𝑏

𝐹⁄ ).(
1

𝑇𝑑
)
 

𝑆. 𝑆1. 𝑆3

2𝜋𝑗(2𝐶𝑝 + 𝐶𝑛 + 𝐶𝑖 − 4𝐶𝑚). (
𝑇𝑏

𝐹⁄ )
𝑒−2𝜋𝑗(8𝐶𝑚−4𝐶𝑝−2𝐶𝑛−𝐶𝑖).(

𝑇𝑏
𝐹⁄ ).𝜔. 𝑒

2𝜋𝑗(2𝐶𝑝+2𝐶𝑛+𝐶𝑖−3𝐶𝑚−2𝐶𝑙).(
𝑇𝑏

𝐹⁄ ).(
1
𝑇𝑐

)
. 𝑒

2𝜋𝑗(2𝐶𝑖+3𝐶𝑛+5𝐶𝑝−10𝐶𝑚).(
𝑇𝑏

𝐹⁄ ).(
1

𝑇𝑑
)
 

 

(10) 
−1

𝑇𝑐
−

2

𝑇𝑑
< 𝜔 <

−3

𝑇𝑐
+

2

𝑇𝑑
 

 𝑋𝑜2
(𝜔, 𝑧) = 𝐸2 ∑ ∑ ∑ ∑ ∑

{
𝑆. 𝑆1. 𝑆4

2𝜋𝑗(𝐶𝑛 + 𝐶𝑖 − 2𝐶𝑝). (
𝑇𝑏

𝐹⁄ )
𝑒−2𝜋𝑗(𝐶𝑖).(

𝑇𝑏
𝐹⁄ ).𝜔. 𝑒

2𝜋𝑗(5𝐶𝑚−2𝐶𝑙−3𝐶𝑖).(
𝑇𝑏

𝐹⁄ ).(
1
𝑇𝑐

)
.

𝑒
2𝜋𝑗(2𝐶𝑖+3𝐶𝑛−5𝐶𝑝).(

𝑇𝑏
𝐹⁄ ).(

1
𝑇𝑑

)

𝑘

𝑙=

𝑘

𝑖=1

𝑘

𝑝=1

𝑘

𝑛=1

𝑘

𝑚=1

 

𝑆. 𝑆1. 𝑆4

2𝜋𝑗(𝐶𝑖 − 𝐶𝑝). (
𝑇𝑏

𝐹⁄ )
𝑒−2𝜋𝑗𝐶𝑝.(

𝑇𝑏
𝐹⁄ ).𝜔. 𝑒

2𝜋𝑗(5𝐶𝑚−2𝐶𝑙−5𝐶𝑝+2𝐶𝑖).(
𝑇𝑏

𝐹⁄ ).(
1
𝑇𝑐

)
. 𝑒

2𝜋𝑗(2𝐶𝑛−2𝐶𝑖).(
𝑇𝑏

𝐹⁄ ).(
1

𝑇𝑑
)
 

𝑆. 𝑆1. 𝑆4

2𝜋𝑗(𝐶𝑖 − 𝐶𝑛). (
𝑇𝑏

𝐹⁄ )
𝑒−2𝜋𝑗(2𝐶𝑛−𝐶𝑖).(

𝑇𝑏
𝐹⁄ ).𝜔. 𝑒

2𝜋𝑗(5𝐶𝑚−2𝐶𝑙−3𝐶𝑝+𝐶𝑖−2𝐶𝑛).(
𝑇𝑏

𝐹⁄ ).(
1
𝑇𝑐

)
. 𝑒

2𝜋𝑗(2𝐶𝑖−𝐶𝑛−𝐶𝑝).(
𝑇𝑏

𝐹⁄ ).(
1

𝑇𝑑
)
 

𝑆. 𝑆2. 𝑆4

2𝜋𝑗(𝐶𝑛 + 𝐶𝑖 − 2𝐶𝑝). (
𝑇𝑏

𝐹⁄ )
𝑒2𝜋𝑗(2𝐶𝑛−4𝐶𝑝+𝐶𝑖).(

𝑇𝑏
𝐹⁄ ).𝜔. 𝑒

2𝜋𝑗(2𝐶𝑛−2𝐶𝑝−𝐶𝑚+𝐶𝑖).(
𝑇𝑏

𝐹⁄ ).(
1
𝑇𝑐

)
. 𝑒

2𝜋𝑗(2𝐶𝑖+3𝐶𝑛−5𝐶𝑝).(
𝑇𝑏

𝐹⁄ ).(
1

𝑇𝑑
)
 

𝑆. 𝑆1. 𝑆3

2𝜋𝑗(2𝐶𝑝 + 𝐶𝑛 + 𝐶𝑖 − 4𝐶𝑚). (
𝑇𝑏

𝐹⁄ )
𝑒−2𝜋𝑗(8𝐶𝑚−4𝐶𝑝−2𝐶𝑛−𝐶𝑖).(

𝑇𝑏
𝐹⁄ ).𝜔. 𝑒

2𝜋𝑗(2𝐶𝑝+2𝐶𝑛+𝐶𝑖−3𝐶𝑚−2𝐶𝑙).(
𝑇𝑏

𝐹⁄ ).(
1
𝑇𝑐

)
. 𝑒

2𝜋𝑗(2𝐶𝑖+3𝐶𝑛+5𝐶𝑝−10𝐶𝑚).(
𝑇𝑏

𝐹⁄ ).(
1

𝑇𝑑
)
 

(11)      
−3

𝑇𝑐
< 𝜔 <

−1

𝑇𝑐
−

2

𝑇𝑑
 

 𝑋𝑜2
(𝜔, 𝑧) = 𝐸2 ∑ ∑ ∑ ∑ ∑

{
𝑆. 𝑆1. 𝑆4

2𝜋𝑗(𝐶𝑛 + 𝐶𝑖 − 2𝐶𝑝). (
𝑇𝑏

𝐹⁄ )
𝑒−2𝜋𝑗(𝐶𝑖).(

𝑇𝑏
𝐹⁄ ).𝜔. 𝑒

2𝜋𝑗(5𝐶𝑚−2𝐶𝑙−3𝐶𝑖).(
𝑇𝑏

𝐹⁄ ).(
1
𝑇𝑐

)
.

𝑒
2𝜋𝑗(2𝐶𝑖+3𝐶𝑛−5𝐶𝑝).(

𝑇𝑏
𝐹⁄ ).(

1
𝑇𝑑

)

𝑘

𝑙=

𝑘

𝑖=1

𝑘

𝑝=1

𝑘

𝑛=1

𝑘

𝑚=1

 

𝑆. 𝑆1. 𝑆4

2𝜋𝑗(𝐶𝑖 − 𝐶𝑛). (
𝑇𝑏

𝐹⁄ )
𝑒−2𝜋𝑗(𝐶𝑖−2𝐶𝑝).(

𝑇𝑏
𝐹⁄ ).𝜔. 𝑒

2𝜋𝑗(5𝐶𝑚−2𝐶𝑙−6𝐶𝑝+3𝐶𝑖).(
𝑇𝑏

𝐹⁄ ).(
1
𝑇𝑐

)
. 𝑒

2𝜋𝑗(2𝐶𝑛−2𝐶𝑝).(
𝑇𝑏

𝐹⁄ ).(
1

𝑇𝑑
)
 

 

(12)        
−3

𝑇𝑐
−

2

𝑇𝑑
< 𝜔 <

−3

𝑇𝑐
 

 𝑋𝑜2
(𝜔, 𝑧) = 𝐸2 ∑ ∑ ∑ ∑ ∑

{
𝑆. 𝑆1. 𝑆4

2𝜋𝑗(𝐶𝑛 + 𝐶𝑖 − 2𝐶𝑝). (
𝑇𝑏

𝐹⁄ )
𝑒−2𝜋𝑗(𝐶𝑖+2𝐶𝑛−4𝐶𝑝).(

𝑇𝑏
𝐹⁄ ).𝜔. 𝑒

2𝜋𝑗(5𝐶𝑚+6𝐶𝑛+3𝐶𝑖−2𝐶𝑙−12𝐶𝑝).(
𝑇𝑏

𝐹⁄ ).(
1
𝑇𝑐

)
.

𝑒
2𝜋𝑗(2𝐶𝑖+3𝐶𝑛−5𝐶𝑝).(

𝑇𝑏
𝐹⁄ ).(

1
𝑇𝑑

)

𝑘

𝑙=

𝑘

𝑖=1

𝑘

𝑝=1

𝑘

𝑛=1

𝑘

𝑚=1

 

 



(13)        𝜔 <
−3

𝑇𝑐
−

2

𝑇𝑑
 

𝑋𝑜2
(𝜔, 𝑧) = 0 

 
 

When the pulse-width of the data is smaller than the pulse-width of clock ( 

𝑇𝑑 < 𝑇𝑐 ) for 𝑋𝑜2
 we have: 

(1)             𝜔 >
3

𝑇𝑐
+

2

𝑇𝑑
        

 

𝑋𝑜2
(𝜔, 𝑧) = 0 

(2)         
3

𝑇𝑐
< 𝜔 <

3

𝑇𝑐
+

2

𝑇𝑑
 

𝑋𝑜2
(𝜔, 𝑧)

= 𝐸2 ∑ ∑ ∑ ∑ ∑ 𝑆. 𝑆1. 𝑆3.
1

2𝜋𝑗(𝐶𝑖 − 𝐶𝑛). (
𝑇𝑏

𝐹⁄ )
𝑒

2𝜋𝑗(3𝐶𝑖−2𝐶𝑙−𝐶𝑚).(
𝑇𝑏

𝐹⁄ ).(
1
𝑇𝑐

)

𝑘

𝑙=

𝑘

𝑖=1

𝑘

𝑝=1

𝑘

𝑛=1

𝑘

𝑚=1

. 𝑒
2𝜋𝑗(2𝐶𝑖−𝐶𝑛+𝐶𝑝−2𝐶𝑚).(

𝑇𝑏
𝐹⁄ ).(

1
𝑇𝑑

)
. . 𝑒−2𝜋𝑗𝐶𝑖.(

𝑇𝑏
𝐹⁄ ).𝜔

 

 

 

(3)        
3

𝑇𝑐
< 𝜔 <

1

𝑇𝑐
+

2

𝑇𝑑
 

𝑋𝑜2
(𝜔, 𝑧) = 𝐸2 ∑ ∑ ∑ ∑ ∑

𝑆. 𝑆2. 𝑆4

2𝜋𝑗(𝐶𝑖 − 𝐶𝑛). (
𝑇𝑏

𝐹⁄ )
𝑒

2𝜋𝑗(𝐶𝑖−𝐶𝑚).(
𝑇𝑏

𝐹⁄ ).(
1
𝑇𝑐

)
. 𝑒

2𝜋𝑗(2𝐶𝑖−𝐶𝑝−𝐶𝑛).(
𝑇𝑏

𝐹⁄ ).(
1

𝑇𝑑
)
. 𝑒−2𝜋𝑗𝐶𝑖.(

𝑇𝑏
𝐹⁄ ).𝜔

𝑘

𝑙=

𝑘

𝑖=1

𝑘

𝑝=1

𝑘

𝑛=1

𝑘

𝑚=1

 

+ 
𝑆.𝑆1.𝑆3

2𝜋𝑗(𝐶𝑖−𝐶𝑛).(
𝑇𝑏

𝐹⁄ )
𝑒

2𝜋𝑗(𝐶𝑖+𝐶𝑚−2𝐶𝑙).(
𝑇𝑏

𝐹⁄ ).(
1

𝑇𝑐
)
. 𝑒

2𝜋𝑗(2𝐶𝑖+𝐶𝑝−𝐶𝑛−2𝐶𝑚).(
𝑇𝑏

𝐹⁄ ).(
1

𝑇𝑑
)
. 𝑒−2𝜋𝑗𝐶𝑖.(

𝑇𝑏
𝐹⁄ )(𝜔)

. 

+
𝑆. 𝑆1. 𝑆3

2𝜋𝑗(𝐶𝑖 + 𝐶𝑝 − 2𝐶𝑚). (
𝑇𝑏

𝐹⁄ )
𝑒

2𝜋𝑗(2𝐶𝑛+𝐶𝑖−𝐶𝑚−2𝐶𝑙).(
𝑇𝑏

𝐹⁄ ).(
1
𝑇𝑐

)
. 𝑒

2𝜋𝑗(2𝐶𝑖+2𝐶𝑝−4𝐶𝑚).(
𝑇𝑏

𝐹⁄ ).(
2

𝑇𝑑
)
. 𝑒−2𝜋𝑗𝐶𝑖.(

𝑇𝑏
𝐹⁄ )(𝜔)

 

+ 
𝑆.𝑆1.𝑆3

2𝜋𝑗(𝐶𝑖−𝐶𝑛).(
𝑇𝑏

𝐹⁄ )
𝑒

2𝜋𝑗(2𝐶𝑖+𝐶𝑛−𝐶𝑚−2𝐶𝑙).(
𝑇𝑏

𝐹⁄ ).(
1

𝑇𝑐
)
. 𝑒

2𝜋𝑗(𝐶𝑝+𝐶𝑛−2𝐶𝑚).(
𝑇𝑏

𝐹⁄ ).(
1

𝑇𝑑
)
. 𝑒−2𝜋𝑗𝐶𝑖.(

𝑇𝑏
𝐹⁄ )(𝜔)

 

 

(4)       −
1

𝑇𝑐
+

2

𝑇𝑑
< 𝜔 <

3

𝑇𝑐
 

 

𝑋𝑜2
(𝜔, 𝑧) = 𝐸2 ∑ ∑ ∑ ∑ ∑

𝑆. 𝑆2. 𝑆4

2𝜋𝑗(𝐶𝑖 − 𝐶𝑛). (
𝑇𝑏

𝐹⁄ )
𝑒

2𝜋𝑗(3𝐶𝑖−2𝐶𝑛−𝐶𝑚).(
𝑇𝑏

𝐹⁄ ).(
1
𝑇𝑐

)
. 𝑒

2𝜋𝑗(𝐶𝑛−𝐶𝑝).(
𝑇𝑏

𝐹⁄ ).(
1

𝑇𝑑
)
. 𝑒−2𝜋𝑗𝐶𝑖.(

𝑇𝑏
𝐹⁄ ).𝜔

𝑘

𝑙=

𝑘

𝑖=1

𝑘

𝑝=1

𝑘

𝑛=1

𝑘

𝑚=1

 

+ 
𝑆.𝑆1.𝑆3

2𝜋𝑗(𝐶𝑖−𝐶𝑛).(
𝑇𝑏

𝐹⁄ )
𝑒

2𝜋𝑗(3𝐶𝑖−2𝐶𝑛+𝐶𝑚−2𝐶𝑙).(
𝑇𝑏

𝐹⁄ ).(
1

𝑇𝑐
)
. 𝑒

2𝜋𝑗(𝐶𝑝+𝐶𝑛−2𝐶𝑚).(
𝑇𝑏

𝐹⁄ ).(
1

𝑇𝑑
)
. 𝑒−2𝜋𝑗(𝐶𝑖).(

𝑇𝑏
𝐹⁄ )(𝜔)

 

+ 
𝑆. 𝑆1. 𝑆3

2𝜋𝑗(𝐶𝑖 + 𝐶𝑛 + 2𝐶𝑝 − 4𝐶𝑚). (
𝑇𝑏

𝐹⁄ )
𝑒

2𝜋𝑗(3𝐶𝑖+2𝐶𝑛−5𝐶𝑚−2𝐶𝑙+2𝐶𝑝).(
𝑇𝑏

𝐹⁄ ).(
1
𝑇𝑐

)
. 𝑒

2𝜋𝑗(𝐶𝑝+𝐶𝑛−2𝐶𝑚).(
𝑇𝑏

𝐹⁄ ).(
1

𝑇𝑑
)
. 𝑒−2𝜋𝑗(𝐶𝑖).(

𝑇𝑏
𝐹⁄ )(𝜔)

 

+
𝑆. 𝑆2. 𝑆4

2𝜋𝑗(𝐶𝑖 − 𝐶𝑛). (
𝑇𝑏

𝐹⁄ )
𝑒

2𝜋𝑗(3𝐶𝑛−2𝐶𝑖−𝐶𝑚).(
𝑇𝑏

𝐹⁄ ).(
1
𝑇𝑐

)
. 𝑒

2𝜋𝑗(2𝐶𝑖−𝐶𝑛−𝐶𝑝).(
𝑇𝑏

𝐹⁄ ).(
1

𝑇𝑑
)
. 𝑒−2𝜋𝑗𝐶𝑛 .(

𝑇𝑏
𝐹⁄ ).𝜔

 



+
𝑆. 𝑆1. 𝑆3

2𝜋𝑗(𝐶𝑖 − 𝐶𝑛). (
𝑇𝑏

𝐹⁄ )
 𝑒

2𝜋𝑗(3𝐶𝑛−2𝐶𝑙+𝐶𝑚−2𝐶𝑖).(
𝑇𝑏

𝐹⁄ ).(
1
𝑇𝑐

)
. 𝑒

2𝜋𝑗(2𝐶𝑖−𝐶𝑛+𝐶𝑝−2𝐶𝑚).(
𝑇𝑏

𝐹⁄ ).(
1

𝑇𝑑
)
. 𝑒−2𝜋𝑗𝐶𝑛.(

𝑇𝑏
𝐹⁄ )(𝜔)

 

+
𝑆. 𝑆1. 𝑆3

2𝜋𝑗(𝐶𝑖 + 𝐶𝑝 − 2𝐶𝑚). (
𝑇𝑏

𝐹⁄ )
𝑒

2𝜋𝑗(5𝐶𝑚+2𝐶𝑛−3𝐶𝑝−2𝐶𝑙−2𝐶𝑖).(
𝑇𝑏

𝐹⁄ ).(
1
𝑇𝑐

)
. 𝑒

2𝜋𝑗(2𝐶𝑖+2𝐶𝑝−4𝐶𝑚).(
𝑇𝑏

𝐹⁄ ).(
1

𝑇𝑑
)
. 𝑒2𝜋𝑗(𝐶𝑝−2𝐶𝑚).(

𝑇𝑏
𝐹⁄ )(𝜔)

 

+
𝑆. 𝑆1. 𝑆3

2𝜋𝑗(𝐶𝑖 − 𝐶𝑛). (
𝑇𝑏

𝐹⁄ )
 𝑒

2𝜋𝑗(4𝐶𝑛−2𝐶𝑙−𝐶𝑚−𝐶𝑖).(
𝑇𝑏

𝐹⁄ ).(
1
𝑇𝑐

)
. 𝑒

2𝜋𝑗(𝐶𝑛+𝐶𝑝−2𝐶𝑚).(
𝑇𝑏

𝐹⁄ ).(
1

𝑇𝑑
)
. 𝑒−2𝜋𝑗(2𝐶𝑛−𝐶𝑖).(

𝑇𝑏
𝐹⁄ )(𝜔)

 

 

(5) 
1

𝑇𝑐
< 𝜔 <

−1

𝑇𝑐
+

2

𝑇𝑑
 

𝑋𝑜2
(𝜔, 𝑧) = 𝐸2 ∑ ∑ ∑ ∑ ∑

𝑆. 𝑆1. 𝑆4

2𝜋𝑗(𝐶𝑖 − 𝐶𝑛). (
𝑇𝑏

𝐹⁄ )
𝑒

2𝜋𝑗(5𝐶𝑚−𝐶𝑖−2𝐶𝑙−3𝐶𝑝).(
𝑇𝑏

𝐹⁄ ).(
1
𝑇𝑐

)
. 𝑒

2𝜋𝑗(2𝐶𝑖−𝐶𝑛−𝐶𝑝).(
𝑇𝑏

𝐹⁄ ).(
1

𝑇𝑑
)
. 𝑒−2𝜋𝑗𝐶𝑖.(

𝑇𝑏
𝐹⁄ ).𝜔

𝑘

𝑙=

𝑘

𝑖=1

𝑘

𝑝=1

𝑘

𝑛=1

𝑘

𝑚=1

 

 

+
𝑆.𝑆2.𝑆4 

2𝜋𝑗(𝐶𝑖−𝐶𝑝).(
𝑇𝑏

𝐹⁄ )
𝑒

2𝜋𝑗(2𝐶𝑛−𝐶𝑖−2𝐶𝑚).(
𝑇𝑏

𝐹⁄ ).(
1

𝑇𝑐
)
. 𝑒

2𝜋𝑗(2𝐶𝑖−2𝐶𝑝).(
𝑇𝑏

𝐹⁄ ).(
1

𝑇𝑑
)
. 𝑒−2𝜋𝑗(𝐶𝑖).(

𝑇𝑏
𝐹⁄ )(𝜔)

 

+
𝑆. 𝑆1. 𝑆3

2𝜋𝑗(𝐶𝑖 + 𝐶𝑝 − 2𝐶𝑚). (
𝑇𝑏

𝐹⁄ )
𝑒

2𝜋𝑗(𝐶𝑚+4𝐶𝑛−2𝐶𝑙−𝐶𝑖).(
𝑇𝑏

𝐹⁄ ).(
1
𝑇𝑐

)
. 𝑒

2𝜋𝑗(2𝐶𝑖+2𝐶𝑝−4𝐶𝑚).(
𝑇𝑏

𝐹⁄ ).(
2

𝑇𝑑
)
. 𝑒−2𝜋𝑗𝐶𝑖.(

𝑇𝑏
𝐹⁄ )(𝜔)

 

 
𝑆. 𝑆1. 𝑆3

2𝜋𝑗(𝐶𝑖 + 𝐶𝑛 + 2𝐶𝑝 − 4𝐶𝑚). (
𝑇𝑏

𝐹⁄ )
𝑒

2𝜋𝑗(11𝐶𝑚−𝐶𝑖−2𝐶𝑙−6𝐶𝑝−2𝐶𝑛).(
𝑇𝑏

𝐹⁄ ).(
1
𝑇𝑐

)
. 𝑒

2𝜋𝑗(2𝐶𝑖+5𝐶𝑝+3𝐶𝑛−10𝐶𝑚).(
𝑇𝑏

𝐹⁄ ).(
1

𝑇𝑑
)
. 𝑒−2𝜋𝑗(𝐶𝑖).(

𝑇𝑏
𝐹⁄ )(𝜔)

 

+
𝑆.𝑆2.𝑆4 

2𝜋𝑗(𝐶𝑖−𝐶𝑛).(
𝑇𝑏

𝐹⁄ )
𝑒

2𝜋𝑗(4𝐶𝑖−3𝐶𝑛−𝐶𝑚).(
𝑇𝑏

𝐹⁄ ).(
1

𝑇𝑐
)
. 𝑒

2𝜋𝑗(3𝐶𝑛−2𝐶𝑖−𝐶𝑚).(
𝑇𝑏

𝐹⁄ ).(
1

𝑇𝑑
)
. 𝑒−2𝜋𝑗(𝐶𝑛).(

𝑇𝑏
𝐹⁄ )(𝜔)

 

+
𝑆.𝑆1.𝑆3 

2𝜋𝑗(𝐶𝑖−𝐶𝑛).(
𝑇𝑏

𝐹⁄ )
𝑒

2𝜋𝑗(4𝐶𝑖−3𝐶𝑛+𝐶𝑚−2𝐶𝑙).(
𝑇𝑏

𝐹⁄ ).(
1

𝑇𝑐
)
. 𝑒

2𝜋𝑗(3𝐶𝑛−2𝐶𝑖+𝐶𝑝−2𝐶𝑚).(
𝑇𝑏

𝐹⁄ ).(
1

𝑇𝑑
)
. 𝑒−2𝜋𝑗(𝐶𝑛).(

𝑇𝑏
𝐹⁄ )(𝜔)

 

+
𝑆.𝑆1.𝑆3 

2𝜋𝑗(𝐶𝑖+𝐶𝑛+2𝐶𝑝−4𝐶𝑚).(
𝑇𝑏

𝐹⁄ )
𝑒

2𝜋𝑗(4𝐶𝑖+4𝐶𝑝+3𝐶𝑛−9𝐶𝑚−2𝐶𝑙).(
𝑇𝑏

𝐹⁄ ).(
1

𝑇𝑐
)
. 𝑒

2𝜋𝑗(6𝐶𝑚−2𝐶𝑖−3𝐶𝑝−𝐶𝑛).(
𝑇𝑏

𝐹⁄ ).(
1

𝑇𝑑
)
. 𝑒2𝜋𝑗(𝐶𝑛+2𝐶𝑝−4𝐶𝑚).(

𝑇𝑏
𝐹⁄ )(𝜔)

 

 

+
𝑆.𝑆2.𝑆4 

2𝜋𝑗(𝐶𝑖−𝐶𝑛).(
𝑇𝑏

𝐹⁄ )
𝑒

2𝜋𝑗(3𝐶𝑛−2𝐶𝑖−𝐶𝑚).(
𝑇𝑏

𝐹⁄ ).(
1

𝑇𝑐
)
. 𝑒

2𝜋𝑗(2𝐶𝑖−𝐶𝑛−𝐶𝑝).(
𝑇𝑏

𝐹⁄ ).(
1

𝑇𝑑
)
. 𝑒−2𝜋𝑗(𝐶𝑛).(

𝑇𝑏
𝐹⁄ )(𝜔)

 

+
𝑆.𝑆1.𝑆3 

2𝜋𝑗(𝐶𝑖−𝐶𝑛).(
𝑇𝑏

𝐹⁄ )
𝑒

2𝜋𝑗(3𝐶𝑛+𝐶𝑚−2𝐶𝑖−2𝐶𝑙).(
𝑇𝑏

𝐹⁄ ).(
1

𝑇𝑐
)
. 𝑒

2𝜋𝑗(2𝐶𝑖−𝐶𝑛+𝐶𝑝−2𝐶𝑚).(
𝑇𝑏

𝐹⁄ ).(
1

𝑇𝑑
)
. 𝑒−2𝜋𝑗(𝐶𝑛).(

𝑇𝑏
𝐹⁄ )(𝜔)

 

+
𝑆. 𝑆1. 𝑆3

2𝜋𝑗(𝐶𝑖 + 𝐶𝑝 − 2𝐶𝑚). (
𝑇𝑏

𝐹⁄ )
 𝑒

2𝜋𝑗(2𝐶𝑛−2𝐶𝑙+5𝐶𝑚−2𝐶𝑖−3𝐶𝑝).(
𝑇𝑏

𝐹⁄ ).(
1
𝑇𝑐

)
. 𝑒

2𝜋𝑗(2𝐶𝑖+2𝐶𝑝−4𝐶𝑚).(
𝑇𝑏

𝐹⁄ ).(
1

𝑇𝑑
)
. 𝑒2𝜋𝑗(𝐶𝑝−2𝐶𝑚).(

𝑇𝑏
𝐹⁄ )(𝜔)

 

 

+
𝑆. 𝑆1. 𝑆3

2𝜋𝑗(𝐶𝑖 − 𝐶𝑛). (
𝑇𝑏

𝐹⁄ )
 𝑒

2𝜋𝑗(4𝐶𝑛−2𝐶𝑙−𝐶𝑚−𝐶𝑖).(
𝑇𝑏

𝐹⁄ ).(
1
𝑇𝑐

)
. 𝑒

2𝜋𝑗(𝐶𝑛+𝐶𝑝−2𝐶𝑚).(
𝑇𝑏

𝐹⁄ ).(
1

𝑇𝑑
)
. 𝑒−2𝜋𝑗(2𝐶𝑛−𝐶𝑖).(

𝑇𝑏
𝐹⁄ )(𝜔)

 

 

(6)        
3

𝑇𝑐
−

2

𝑇𝑑
< 𝜔 <

1

𝑇𝑐
 

𝑋𝑜2
(𝜔, 𝑧) = 𝐸2 ∑ ∑ ∑ ∑ ∑

𝑆. 𝑆1. 𝑆4

2𝜋𝑗(𝐶𝑖 − 𝐶𝑛). (
𝑇𝑏

𝐹⁄ )
𝑒

2𝜋𝑗(𝐶𝑖−2𝐶𝑛+5𝐶𝑚−2𝐶𝑙−3𝐶𝑝).(
𝑇𝑏

𝐹⁄ ).(
1
𝑇𝑐

)
. 𝑒

2𝜋𝑗(𝐶𝑛−𝐶𝑝).(
𝑇𝑏

𝐹⁄ ).(
1

𝑇𝑑
)
. 𝑒−2𝜋𝑗𝐶𝑖.(

𝑇𝑏
𝐹⁄ ).𝜔

𝑘

𝑙=

𝑘

𝑖=1

𝑘

𝑝=1

𝑘

𝑛=1

𝑘

𝑚=1

 

+
𝑆. 𝑆2. 𝑆4

2𝜋𝑗(𝐶𝑖 + 𝐶𝑛 − 2𝐶𝑝). (
𝑇𝑏

𝐹⁄ )
𝑒

2𝜋𝑗(2𝐶𝑛−𝐶𝑚−2𝐶𝑝+𝐶𝑖).(
𝑇𝑏

𝐹⁄ ).(
1
𝑇𝑐

)
. 𝑒

2𝜋𝑗(𝐶𝑛−𝐶𝑝).(
𝑇𝑏

𝐹⁄ ).(
2

𝑇𝑑
)
. 𝑒−2𝜋𝑗𝐶𝑖.(

𝑇𝑏
𝐹⁄ )(𝜔)

 



𝑆. 𝑆1. 𝑆3.

2𝜋𝑗(𝐶𝑖 + 𝐶𝑛 + 2𝐶𝑝 − 4𝐶𝑚). (
𝑇𝑏

𝐹⁄ )
𝑒

2𝜋𝑗(𝐶𝑖+2𝐶𝑛−3𝐶𝑚−2𝐶𝑙+2𝐶𝑝).(
𝑇𝑏

𝐹⁄ ).(
1
𝑇𝑐

)
. 𝑒

2𝜋𝑗(𝐶𝑝+𝐶𝑛−2𝐶𝑚).(
𝑇𝑏

𝐹⁄ ).(
1

𝑇𝑑
)
. 𝑒−2𝜋𝑗𝐶𝑖.(

𝑇𝑏
𝐹⁄ )(𝜔)

 

 
𝑆. 𝑆1. 𝑆4

2𝜋𝑗(𝐶𝑖 − 𝐶𝑛). (
𝑇𝑏

𝐹⁄ )
𝑒

2𝜋𝑗(5𝐶𝑚+𝐶𝑛−2𝐶𝑖−2𝐶𝑙−3𝐶𝑝).(
𝑇𝑏

𝐹⁄ ).(
1
𝑇𝑐

)
. 𝑒

2𝜋𝑗(2𝐶𝑖+3𝐶𝑛−𝐶𝑝).(
𝑇𝑏

𝐹⁄ ).(
1

𝑇𝑑
)
. 𝑒−2𝜋𝑗𝐶𝑛 .(

𝑇𝑏
𝐹⁄ ).𝜔

 

+
𝑆.𝑆2.𝑆4 

2𝜋𝑗(𝐶𝑖−𝐶𝑝).(
𝑇𝑏

𝐹⁄ )
𝑒

2𝜋𝑗(2𝐶𝑛+𝐶𝑝−2𝐶𝑖−2𝐶𝑚).(
𝑇𝑏

𝐹⁄ ).(
1

𝑇𝑐
)
. 𝑒

2𝜋𝑗(2𝐶𝑖−2𝐶𝑝).(
𝑇𝑏

𝐹⁄ ).(
1

𝑇𝑑
)
. 𝑒−2𝜋𝑗(𝐶𝑝).(

𝑇𝑏
𝐹⁄ )(𝜔)

 

+
𝑆. 𝑆1. 𝑆3

2𝜋𝑗(𝐶𝑖 + 𝐶𝑝 − 2𝐶𝑚). (
𝑇𝑏

𝐹⁄ )
𝑒

2𝜋𝑗(3𝐶𝑚+2𝐶𝑛−𝐶𝑝−2𝐶𝑙−2𝐶𝑖).(
𝑇𝑏

𝐹⁄ ).(
1
𝑇𝑐

)
. 𝑒

2𝜋𝑗(2𝐶𝑖+2𝐶𝑝−4𝐶𝑚).(
𝑇𝑏

𝐹⁄ ).(
2

𝑇𝑑
)
. 𝑒2𝜋𝑗(𝐶𝑝−2𝐶𝑚).(

𝑇𝑏
𝐹⁄ )(𝜔)

 

 
𝑆. 𝑆1. 𝑆3

2𝜋𝑗(𝐶𝑖 + 𝐶𝑛 + 2𝐶𝑝 − 4𝐶𝑚). (
𝑇𝑏

𝐹⁄ )
𝑒

2𝜋𝑗(15𝐶𝑚−2𝐶𝑖−2𝐶𝑙−8𝐶𝑝−3𝐶𝑛).(
𝑇𝑏

𝐹⁄ ).(
1
𝑇𝑐

)
. 𝑒

2𝜋𝑗(2𝐶𝑖+5𝐶𝑝+3𝐶𝑛−10𝐶𝑚).(
𝑇𝑏

𝐹⁄ ).(
1

𝑇𝑑
)
. 𝑒−2𝜋𝑗(𝐶𝑛+2𝐶𝑝−4𝐶𝑚).(

𝑇𝑏
𝐹⁄ )(𝜔)

 

 

+
𝑆.𝑆2.𝑆4 

2𝜋𝑗(𝐶𝑖−𝐶𝑛).(
𝑇𝑏

𝐹⁄ )
𝑒

2𝜋𝑗(4𝐶𝑖−3𝐶𝑛−𝐶𝑚).(
𝑇𝑏

𝐹⁄ ).(
1

𝑇𝑐
)
. 𝑒

2𝜋𝑗(3𝐶𝑛−2𝐶𝑖−𝐶𝑚).(
𝑇𝑏

𝐹⁄ ).(
1

𝑇𝑑
)
. 𝑒−2𝜋𝑗(𝐶𝑛).(

𝑇𝑏
𝐹⁄ )(𝜔)

 

+
𝑆.𝑆1.𝑆3 

2𝜋𝑗(𝐶𝑖−𝐶𝑛).(
𝑇𝑏

𝐹⁄ )
𝑒

2𝜋𝑗(4𝐶𝑖−3𝐶𝑛+𝐶𝑚−2𝐶𝑙).(
𝑇𝑏

𝐹⁄ ).(
1

𝑇𝑐
)
. 𝑒

2𝜋𝑗(3𝐶𝑛−2𝐶𝑖+𝐶𝑝−2𝐶𝑚).(
𝑇𝑏

𝐹⁄ ).(
1

𝑇𝑑
)
. 𝑒−2𝜋𝑗(𝐶𝑛).(

𝑇𝑏
𝐹⁄ )(𝜔)

 

+
𝑆.𝑆1.𝑆3 

2𝜋𝑗(𝐶𝑖+𝐶𝑛+2𝐶𝑝−4𝐶𝑚).(
𝑇𝑏

𝐹⁄ )
𝑒

2𝜋𝑗(4𝐶𝑖+4𝐶𝑝+3𝐶𝑛−9𝐶𝑚−2𝐶𝑙).(
𝑇𝑏

𝐹⁄ ).(
1

𝑇𝑐
)
. 𝑒

2𝜋𝑗(6𝐶𝑚−2𝐶𝑖−3𝐶𝑝−𝐶𝑛).(
𝑇𝑏

𝐹⁄ ).(
1

𝑇𝑑
)
. 𝑒2𝜋𝑗(𝐶𝑛+2𝐶𝑝−4𝐶𝑚).(

𝑇𝑏
𝐹⁄ )(𝜔)

 

+
𝑆.𝑆2.𝑆4 

2𝜋𝑗(𝐶𝑖−𝐶𝑛).(
𝑇𝑏

𝐹⁄ )
𝑒

2𝜋𝑗(4𝐶𝑛−3𝐶𝑖−𝐶𝑚).(
𝑇𝑏

𝐹⁄ ).(
1

𝑇𝑐
)
. 𝑒

2𝜋𝑗(2𝐶𝑖−𝐶𝑛−𝐶𝑝).(
𝑇𝑏

𝐹⁄ ).(
1

𝑇𝑑
)
. 𝑒2𝜋𝑗(𝐶𝑖−2𝐶𝑛).(

𝑇𝑏
𝐹⁄ )(𝜔)

 

+
𝑆.𝑆1.𝑆3 

2𝜋𝑗(𝐶𝑖−𝐶𝑛).(
𝑇𝑏

𝐹⁄ )
𝑒

2𝜋𝑗(4𝐶𝑛+𝐶𝑚−3𝐶𝑖−2𝐶𝑙).(
𝑇𝑏

𝐹⁄ ).(
1

𝑇𝑐
)
. 𝑒

2𝜋𝑗(2𝐶𝑖−𝐶𝑛+𝐶𝑝−2𝐶𝑚).(
𝑇𝑏

𝐹⁄ ).(
1

𝑇𝑑
)
. 𝑒2𝜋𝑗(𝐶𝑖−2𝐶𝑛).(

𝑇𝑏
𝐹⁄ )(𝜔)

 

+
𝑆. 𝑆1. 𝑆3

2𝜋𝑗(𝐶𝑖 + 𝐶𝑝 − 2𝐶𝑚). (
𝑇𝑏

𝐹⁄ )
 𝑒

2𝜋𝑗(2𝐶𝑛−2𝐶𝑙+7𝐶𝑚−3𝐶𝑖−4𝐶𝑝).(
𝑇𝑏

𝐹⁄ ).(
1
𝑇𝑐

)
. 𝑒

2𝜋𝑗(2𝐶𝑖+2𝐶𝑝−4𝐶𝑚).(
𝑇𝑏

𝐹⁄ ).(
1

𝑇𝑑
)
. 𝑒2𝜋𝑗(𝐶𝑖+2𝐶𝑝−4𝐶𝑚).(

𝑇𝑏
𝐹⁄ )(𝜔)

 

 

(7)         
−3

𝑇𝑐
+

2

𝑇𝑑
< 𝜔 <

3

𝑇𝑐
−

2

𝑇𝑑
 

𝑋𝑜2
(𝜔, 𝑧) = 𝐸2 ∑ ∑ ∑ ∑ ∑

𝑆. 𝑆1. 𝑆4

2𝜋𝑗(𝐶𝑖 − 𝐶𝑛). (
𝑇𝑏

𝐹⁄ )
𝑒

2𝜋𝑗(𝐶𝑖−2𝐶𝑛+5𝐶𝑚−2𝐶𝑙−3𝐶𝑝).(
𝑇𝑏

𝐹⁄ ).(
1
𝑇𝑐

)
. 𝑒

2𝜋𝑗(𝐶𝑛−𝐶𝑝).(
𝑇𝑏

𝐹⁄ ).(
1

𝑇𝑑
)
. 𝑒−2𝜋𝑗𝐶𝑖.(

𝑇𝑏
𝐹⁄ ).𝜔

𝑘

𝑙=

𝑘

𝑖=1

𝑘

𝑝=1

𝑘

𝑛=1

𝑘

𝑚=1

 

+
𝑆. 𝑆2. 𝑆4

2𝜋𝑗(𝐶𝑖 + 𝐶𝑛 − 2𝐶𝑝). (
𝑇𝑏

𝐹⁄ )
𝑒

2𝜋𝑗(2𝐶𝑛−𝐶𝑚−2𝐶𝑝+𝐶𝑖).(
𝑇𝑏

𝐹⁄ ).(
1
𝑇𝑐

)
. 𝑒

2𝜋𝑗(𝐶𝑛−𝐶𝑝).(
𝑇𝑏

𝐹⁄ ).(
2

𝑇𝑑
)
. 𝑒−2𝜋𝑗𝐶𝑖.(

𝑇𝑏
𝐹⁄ )(𝜔)

 

𝑆. 𝑆1. 𝑆3.

2𝜋𝑗(𝐶𝑖 + 𝐶𝑛 + 2𝐶𝑝 − 4𝐶𝑚). (
𝑇𝑏

𝐹⁄ )
𝑒

2𝜋𝑗(𝐶𝑖+2𝐶𝑛−3𝐶𝑚−2𝐶𝑙+2𝐶𝑝).(
𝑇𝑏

𝐹⁄ ).(
1
𝑇𝑐

)
. 𝑒

2𝜋𝑗(𝐶𝑝+𝐶𝑛−2𝐶𝑚).(
𝑇𝑏

𝐹⁄ ).(
1

𝑇𝑑
)
. 𝑒−2𝜋𝑗𝐶𝑖.(

𝑇𝑏
𝐹⁄ )(𝜔)

 

 
𝑆. 𝑆1. 𝑆4

2𝜋𝑗(𝐶𝑖 − 𝐶𝑛). (
𝑇𝑏

𝐹⁄ )
𝑒

2𝜋𝑗(5𝐶𝑚+𝐶𝑛−2𝐶𝑖−2𝐶𝑙−3𝐶𝑝).(
𝑇𝑏

𝐹⁄ ).(
1
𝑇𝑐

)
. 𝑒

2𝜋𝑗(2𝐶𝑖+3𝐶𝑛−𝐶𝑝).(
𝑇𝑏

𝐹⁄ ).(
1

𝑇𝑑
)
. 𝑒−2𝜋𝑗𝐶𝑛 .(

𝑇𝑏
𝐹⁄ ).𝜔

 

+
𝑆.𝑆2.𝑆4 

2𝜋𝑗(𝐶𝑖−𝐶𝑝).(
𝑇𝑏

𝐹⁄ )
𝑒

2𝜋𝑗(2𝐶𝑛+𝐶𝑝−2𝐶𝑖−2𝐶𝑚).(
𝑇𝑏

𝐹⁄ ).(
1

𝑇𝑐
)
. 𝑒

2𝜋𝑗(2𝐶𝑖−2𝐶𝑝).(
𝑇𝑏

𝐹⁄ ).(
1

𝑇𝑑
)
. 𝑒−2𝜋𝑗(𝐶𝑝).(

𝑇𝑏
𝐹⁄ )(𝜔)

 

+
𝑆. 𝑆1. 𝑆3

2𝜋𝑗(𝐶𝑖 + 𝐶𝑝 − 2𝐶𝑚). (
𝑇𝑏

𝐹⁄ )
𝑒

2𝜋𝑗(3𝐶𝑚+2𝐶𝑛−𝐶𝑝−2𝐶𝑙−2𝐶𝑖).(
𝑇𝑏

𝐹⁄ ).(
1
𝑇𝑐

)
. 𝑒

2𝜋𝑗(2𝐶𝑖+2𝐶𝑝−4𝐶𝑚).(
𝑇𝑏

𝐹⁄ ).(
2

𝑇𝑑
)
. 𝑒2𝜋𝑗(𝐶𝑝−2𝐶𝑚).(

𝑇𝑏
𝐹⁄ )(𝜔)

 



 
𝑆. 𝑆1. 𝑆3

2𝜋𝑗(𝐶𝑖 + 𝐶𝑛 + 2𝐶𝑝 − 4𝐶𝑚). (
𝑇𝑏

𝐹⁄ )
𝑒

2𝜋𝑗(15𝐶𝑚−2𝐶𝑖−2𝐶𝑙−8𝐶𝑝−3𝐶𝑛).(
𝑇𝑏

𝐹⁄ ).(
1
𝑇𝑐

)
. 𝑒

2𝜋𝑗(2𝐶𝑖+5𝐶𝑝+3𝐶𝑛−10𝐶𝑚).(
𝑇𝑏

𝐹⁄ ).(
1

𝑇𝑑
)
. 𝑒−2𝜋𝑗(𝐶𝑛+2𝐶𝑝−4𝐶𝑚).(

𝑇𝑏
𝐹⁄ )(𝜔)

 

+
𝑆.𝑆2.𝑆4 

2𝜋𝑗(𝐶𝑖−𝐶𝑛).(
𝑇𝑏

𝐹⁄ )
𝑒

2𝜋𝑗(𝐶𝑖−𝐶𝑚).(
𝑇𝑏

𝐹⁄ ).(
1

𝑇𝑐
)
. 𝑒

2𝜋𝑗(𝐶𝑛−𝐶𝑝).(
𝑇𝑏

𝐹⁄ ).(
1

𝑇𝑑
)
. 𝑒2𝜋𝑗(𝐶𝑖−2𝐶𝑛).(

𝑇𝑏
𝐹⁄ )(𝜔)

 

+
𝑆.𝑆1.𝑆3 

2𝜋𝑗(𝐶𝑖−𝐶𝑛).(
𝑇𝑏

𝐹⁄ )
𝑒

2𝜋𝑗(𝐶𝑖+𝐶𝑚−2𝐶𝑙).(
𝑇𝑏

𝐹⁄ ).(
1

𝑇𝑐
)
. 𝑒

2𝜋𝑗(𝐶𝑛+𝐶𝑝−2𝐶𝑚).(
𝑇𝑏

𝐹⁄ ).(
1

𝑇𝑑
)
. 𝑒2𝜋𝑗(𝐶𝑖−2𝐶𝑛).(

𝑇𝑏
𝐹⁄ )(𝜔)

 

+
𝑆.𝑆1.𝑆3 

2𝜋𝑗(𝐶𝑖+𝐶𝑛+2𝐶𝑝−4𝐶𝑚).(
𝑇𝑏

𝐹⁄ )
𝑒

2𝜋𝑗(𝐶𝑖−2𝐶𝑝+3𝐶𝑚−2𝐶𝑙).(
𝑇𝑏

𝐹⁄ ).(
1

𝑇𝑐
)
. 𝑒

2𝜋𝑗(𝐶𝑛+𝐶𝑝−2𝐶𝑚).(
𝑇𝑏

𝐹⁄ ).(
1

𝑇𝑑
)
. 𝑒2𝜋𝑗(𝐶𝑖+2𝐶𝑛+4𝐶𝑝−8𝐶𝑚).(

𝑇𝑏
𝐹⁄ )(𝜔)

 

 

(8)        
−1

𝑇𝑐
< 𝜔 <

−3

𝑇𝑐
+

2

𝑇𝑑
 

𝑋𝑜2
(𝜔, 𝑧)

= 𝐸2 ∑ ∑ ∑ ∑ ∑
𝑆. 𝑆1. 𝑆4

2𝜋𝑗(𝐶𝑖 − 𝐶𝑝). (
𝑇𝑏

𝐹⁄ )
𝑒−2𝜋𝑗𝐶𝑖.(

𝑇𝑏
𝐹⁄ ).𝜔. 𝑒

2𝜋𝑗(5𝐶𝑚−2𝐶𝑙−8𝐶𝑝−3𝐶𝑖−2𝐶𝑛).(
𝑇𝑏

𝐹⁄ ).(
1
𝑇𝑐

)
. 𝑒

2𝜋𝑗(2𝐶𝑖−2𝐶𝑝).(
𝑇𝑏

𝐹⁄ ).(
1

𝑇𝑑
)

𝑘

𝑙=

𝑘

𝑖=1

𝑘

𝑝=1

𝑘

𝑛=1

𝑘

𝑚=1

 

 

+
𝑆. 𝑆2. 𝑆4

2𝜋𝑗(𝐶𝑛 + 𝐶𝑖 − 2𝐶𝑝). (
𝑇𝑏

𝐹⁄ )
𝑒−2𝜋𝑗𝐶𝑖.(

𝑇𝑏
𝐹⁄ ).𝜔. 𝑒

2𝜋𝑗(6𝐶𝑝−𝐶𝑚−3𝐶𝑖−2𝐶𝑛).(
𝑇𝑏

𝐹⁄ ).(
1
𝑇𝑐

)
. 𝑒

2𝜋𝑗(2𝐶𝑖+3𝐶𝑛−5𝐶𝑝).(
𝑇𝑏

𝐹⁄ ).(
1

𝑇𝑑
)

+ 

 
𝑆. 𝑆1. 𝑆3

2𝜋𝑗(2𝐶𝑝 + 𝐶𝑛 + 𝐶𝑖 − 4𝐶𝑚). (
𝑇𝑏

𝐹⁄ )
𝑒−2𝜋𝑗(𝐶𝑖).(

𝑇𝑏
𝐹⁄ ).𝜔. 𝑒

2𝜋𝑗(13𝐶𝑚−2𝐶𝑛−6𝐶𝑝−2𝐶𝑙−3𝐶𝑖).(
𝑇𝑏

𝐹⁄ ).(
1
𝑇𝑐

)
. 𝑒

2𝜋𝑗(2𝐶𝑖+3𝐶𝑛+5𝐶𝑝−10𝐶𝑚).(
𝑇𝑏

𝐹⁄ ).(
1

𝑇𝑑
)
 

 
𝑆. 𝑆1. 𝑆4

2𝜋𝑗(𝐶𝑖 − 𝐶𝑛). (
𝑇𝑏

𝐹⁄ )
𝑒

2𝜋𝑗(4𝐶𝑖−5𝐶𝑛+5𝐶𝑚−2𝐶𝑙−3𝐶𝑝).(
𝑇𝑏

𝐹⁄ ).(
1
𝑇𝑐

)
. 𝑒

2𝜋𝑗(3𝐶𝑛−2𝐶𝑖−𝐶𝑝).(
𝑇𝑏

𝐹⁄ ).(
1

𝑇𝑑
)
. 𝑒−2𝜋𝑗𝐶𝑛.(

𝑇𝑏
𝐹⁄ ).𝜔

 

+
𝑆. 𝑆2. 𝑆4

2𝜋𝑗(𝐶𝑖 + 𝐶𝑛 − 2𝐶𝑝). (
𝑇𝑏

𝐹⁄ )
𝑒

2𝜋𝑗(5𝐶𝑛−𝐶𝑚−8𝐶𝑝+4𝐶𝑖).(
𝑇𝑏

𝐹⁄ ).(
1
𝑇𝑐

)
. 𝑒

2𝜋𝑗(3𝐶𝑝−2𝐶𝑖−𝐶𝑛).(
𝑇𝑏

𝐹⁄ ).(
2

𝑇𝑑
)
. 𝑒2𝜋𝑗(𝐶𝑛−2𝐶𝑝).(

𝑇𝑏
𝐹⁄ )(𝜔)

 

𝑆. 𝑆1. 𝑆3.

2𝜋𝑗(𝐶𝑖 + 𝐶𝑛 + 2𝐶𝑝 − 4𝐶𝑚). (
𝑇𝑏

𝐹⁄ )
𝑒

2𝜋𝑗(4𝐶𝑖+5𝐶𝑛−15𝐶𝑚−2𝐶𝑙+8𝐶𝑝).(
𝑇𝑏

𝐹⁄ ).(
1
𝑇𝑐

)
. 𝑒

2𝜋𝑗(6𝐶𝑚−3𝐶𝑝−𝐶𝑛−2𝐶𝑖).(
𝑇𝑏

𝐹⁄ ).(
1

𝑇𝑑
)
. 𝑒2𝜋𝑗(𝐶𝑛+2𝐶𝑝−4𝐶𝑚).(

𝑇𝑏
𝐹⁄ )(𝜔)

 

 
𝑆. 𝑆1. 𝑆4

2𝜋𝑗(𝐶𝑖 − 𝐶𝑛). (
𝑇𝑏

𝐹⁄ )
𝑒

2𝜋𝑗(5𝐶𝑚+𝐶𝑛−2𝐶𝑖−2𝐶𝑙−3𝐶𝑝).(
𝑇𝑏

𝐹⁄ ).(
1
𝑇𝑐

)
. 𝑒

2𝜋𝑗(2𝐶𝑖+3𝐶𝑛−𝐶𝑝).(
𝑇𝑏

𝐹⁄ ).(
1

𝑇𝑑
)
. 𝑒−2𝜋𝑗𝐶𝑛 .(

𝑇𝑏
𝐹⁄ ).𝜔

 

+
𝑆.𝑆2.𝑆4 

2𝜋𝑗(𝐶𝑖−𝐶𝑝).(
𝑇𝑏

𝐹⁄ )
𝑒

2𝜋𝑗(2𝐶𝑛+𝐶𝑝−2𝐶𝑖−2𝐶𝑚).(
𝑇𝑏

𝐹⁄ ).(
1

𝑇𝑐
)
. 𝑒

2𝜋𝑗(2𝐶𝑖−2𝐶𝑝).(
𝑇𝑏

𝐹⁄ ).(
1

𝑇𝑑
)
. 𝑒−2𝜋𝑗(𝐶𝑝).(

𝑇𝑏
𝐹⁄ )(𝜔)

 

+
𝑆. 𝑆1. 𝑆3

2𝜋𝑗(𝐶𝑖 + 𝐶𝑝 − 2𝐶𝑚). (
𝑇𝑏

𝐹⁄ )
𝑒

2𝜋𝑗(3𝐶𝑚+2𝐶𝑛−𝐶𝑝−2𝐶𝑙−2𝐶𝑖).(
𝑇𝑏

𝐹⁄ ).(
1
𝑇𝑐

)
. 𝑒

2𝜋𝑗(2𝐶𝑖+2𝐶𝑝−4𝐶𝑚).(
𝑇𝑏

𝐹⁄ ).(
2

𝑇𝑑
)
. 𝑒2𝜋𝑗(𝐶𝑝−2𝐶𝑚).(

𝑇𝑏
𝐹⁄ )(𝜔)

 

 
𝑆. 𝑆1. 𝑆3

2𝜋𝑗(𝐶𝑖 + 𝐶𝑛 + 2𝐶𝑝 − 4𝐶𝑚). (
𝑇𝑏

𝐹⁄ )
𝑒

2𝜋𝑗(15𝐶𝑚−2𝐶𝑖−2𝐶𝑙−8𝐶𝑝−3𝐶𝑛).(
𝑇𝑏

𝐹⁄ ).(
1
𝑇𝑐

)
. 𝑒

2𝜋𝑗(2𝐶𝑖+5𝐶𝑝+3𝐶𝑛−10𝐶𝑚).(
𝑇𝑏

𝐹⁄ ).(
1

𝑇𝑑
)
. 𝑒−2𝜋𝑗(𝐶𝑛+2𝐶𝑝−4𝐶𝑚).(

𝑇𝑏
𝐹⁄ )(𝜔)

 

+
𝑆.𝑆2.𝑆4 

2𝜋𝑗(𝐶𝑖−𝐶𝑛).(
𝑇𝑏

𝐹⁄ )
𝑒

2𝜋𝑗(𝐶𝑖−𝐶𝑚).(
𝑇𝑏

𝐹⁄ ).(
1

𝑇𝑐
)
. 𝑒

2𝜋𝑗(𝐶𝑛−𝐶𝑝).(
𝑇𝑏

𝐹⁄ ).(
1

𝑇𝑑
)
. 𝑒2𝜋𝑗(𝐶𝑖−2𝐶𝑛).(

𝑇𝑏
𝐹⁄ )(𝜔)

 

+
𝑆.𝑆1.𝑆3 

2𝜋𝑗(𝐶𝑖−𝐶𝑛).(
𝑇𝑏

𝐹⁄ )
𝑒

2𝜋𝑗(𝐶𝑖+𝐶𝑚−2𝐶𝑙).(
𝑇𝑏

𝐹⁄ ).(
1

𝑇𝑐
)
. 𝑒

2𝜋𝑗(𝐶𝑛+𝐶𝑝−2𝐶𝑚).(
𝑇𝑏

𝐹⁄ ).(
1

𝑇𝑑
)
. 𝑒2𝜋𝑗(𝐶𝑖−2𝐶𝑛).(

𝑇𝑏
𝐹⁄ )(𝜔)

 

+
𝑆.𝑆1.𝑆3 

2𝜋𝑗(𝐶𝑖+𝐶𝑛+2𝐶𝑝−4𝐶𝑚).(
𝑇𝑏

𝐹⁄ )
𝑒

2𝜋𝑗(𝐶𝑖−2𝐶𝑝+3𝐶𝑚−2𝐶𝑙).(
𝑇𝑏

𝐹⁄ ).(
1

𝑇𝑐
)
. 𝑒

2𝜋𝑗(𝐶𝑛+𝐶𝑝−2𝐶𝑚).(
𝑇𝑏

𝐹⁄ ).(
1

𝑇𝑑
)
. 𝑒2𝜋𝑗(𝐶𝑖+2𝐶𝑛+4𝐶𝑝−8𝐶𝑚).(

𝑇𝑏
𝐹⁄ )(𝜔)

 

 



(9)        
1

𝑇𝑐
−

2

𝑇𝑑
< 𝜔 < −

1

𝑇𝑐
 

 
𝑋𝑜2

(𝜔, 𝑧)

= 𝐸2 ∑ ∑ ∑ ∑ ∑{
𝑆. 𝑆1. 𝑆4

2𝜋𝑗(𝐶𝑖 + 𝐶𝑛 − 2𝐶𝑝). (
𝑇𝑏

𝐹⁄ )
𝑒−2𝜋𝑗𝐶𝑖.(

𝑇𝑏
𝐹⁄ ).𝜔. 𝑒

2𝜋𝑗(5𝐶𝑚−2𝐶𝑙−4𝐶𝑝−𝐶𝑖+2𝐶𝑛).(
𝑇𝑏

𝐹⁄ ).(
1
𝑇𝑐

)
. 𝑒

2𝜋𝑗(𝐶𝑛−𝐶𝑝).(
𝑇𝑏

𝐹⁄ ).(
1

𝑇𝑑
)

𝑘

𝑙=

𝑘

𝑖=1

𝑘

𝑝=1

𝑘

𝑛=1

𝑘

𝑚=1

 

𝑆. 𝑆1. 𝑆4

2𝜋𝑗(𝐶𝑖 − 𝐶𝑝). (
𝑇𝑏

𝐹⁄ )
𝑒−2𝜋𝑗𝐶𝑝 .(

𝑇𝑏
𝐹⁄ ).𝜔. 𝑒

2𝜋𝑗(5𝐶𝑚−2𝐶𝑙−3𝐶𝑝−2𝐶𝑖+2𝐶𝑛).(
𝑇𝑏

𝐹⁄ ).(
1
𝑇𝑐

)
. 𝑒

2𝜋𝑗(2𝐶𝑝−2𝐶𝑖).(
𝑇𝑏

𝐹⁄ ).(
1

𝑇𝑑
)
 

 +
𝑆.𝑆2.𝑆4

2𝜋𝑗(𝐶𝑛+𝐶𝑖−2𝐶𝑝).(
𝑇𝑏

𝐹⁄ )
𝑒−2𝜋𝑗(𝐶𝑛−2𝐶𝑝).(

𝑇𝑏
𝐹⁄ ).𝜔. 𝑒

2𝜋𝑗(4𝐶𝑝−𝐶𝑚−2𝐶𝑖−𝐶𝑛).(
𝑇𝑏

𝐹⁄ ).(
1

𝑇𝑐
)
. 𝑒

2𝜋𝑗(3𝐶𝑝−2𝐶𝑖−𝐶𝑛).(
𝑇𝑏

𝐹⁄ ).(
1

𝑇𝑑
)

+ 

𝑆. 𝑆1. 𝑆3

2𝜋𝑗(2𝐶𝑝 + 𝐶𝑛 + 𝐶𝑖 − 4𝐶𝑚). (
𝑇𝑏

𝐹⁄ )
𝑒−2𝜋𝑗(2𝐶𝑝+𝐶𝑛−4𝐶𝑚).(

𝑇𝑏
𝐹⁄ ).𝜔. 𝑒

2𝜋𝑗(9𝐶𝑚−𝐶𝑛−4𝐶𝑝−2𝐶𝑙−2𝐶𝑖).(
𝑇𝑏

𝐹⁄ ).(
1
𝑇𝑐

)
. 𝑒

2𝜋𝑗(6𝐶𝑚−2𝐶𝑖−𝐶𝑛−3𝐶𝑝).(
𝑇𝑏

𝐹⁄ ).(
1

𝑇𝑑
)
 

𝑆. 𝑆1. 𝑆4

2𝜋𝑗(𝐶𝑖 − 𝐶𝑛). (
𝑇𝑏

𝐹⁄ )
𝑒

2𝜋𝑗(4𝐶𝑖−5𝐶𝑛+5𝐶𝑚−2𝐶𝑙−3𝐶𝑝).(
𝑇𝑏

𝐹⁄ ).(
1
𝑇𝑐

)
. 𝑒

2𝜋𝑗(3𝐶𝑛−2𝐶𝑖−𝐶𝑝).(
𝑇𝑏

𝐹⁄ ).(
1

𝑇𝑑
)
. 𝑒−2𝜋𝑗𝐶𝑛.(

𝑇𝑏
𝐹⁄ ).𝜔

 

+
𝑆. 𝑆2. 𝑆4

2𝜋𝑗(𝐶𝑖 + 𝐶𝑛 − 2𝐶𝑝). (
𝑇𝑏

𝐹⁄ )
𝑒

2𝜋𝑗(5𝐶𝑛−𝐶𝑚−8𝐶𝑝+4𝐶𝑖).(
𝑇𝑏

𝐹⁄ ).(
1
𝑇𝑐

)
. 𝑒

2𝜋𝑗(3𝐶𝑝−2𝐶𝑖−𝐶𝑛).(
𝑇𝑏

𝐹⁄ ).(
2

𝑇𝑑
)
. 𝑒2𝜋𝑗(𝐶𝑛−2𝐶𝑝).(

𝑇𝑏
𝐹⁄ )(𝜔)

 

𝑆. 𝑆1. 𝑆3.

2𝜋𝑗(𝐶𝑖 + 𝐶𝑛 + 2𝐶𝑝 − 4𝐶𝑚). (
𝑇𝑏

𝐹⁄ )
𝑒

2𝜋𝑗(4𝐶𝑖+5𝐶𝑛−15𝐶𝑚−2𝐶𝑙+8𝐶𝑝).(
𝑇𝑏

𝐹⁄ ).(
1
𝑇𝑐

)
. 𝑒

2𝜋𝑗(6𝐶𝑚−3𝐶𝑝−𝐶𝑛−2𝐶𝑖).(
𝑇𝑏

𝐹⁄ ).(
1

𝑇𝑑
)
. 𝑒2𝜋𝑗(𝐶𝑛+2𝐶𝑝−4𝐶𝑚).(

𝑇𝑏
𝐹⁄ )(𝜔)

 

𝑆. 𝑆1. 𝑆4

2𝜋𝑗(𝐶𝑖 − 𝐶𝑛). (
𝑇𝑏

𝐹⁄ )
𝑒

2𝜋𝑗(5𝐶𝑚−𝐶𝑖−2𝐶𝑙−3𝐶𝑝).(
𝑇𝑏

𝐹⁄ ).(
1
𝑇𝑐

)
. 𝑒

2𝜋𝑗(2𝐶𝑖−𝐶𝑛−𝐶𝑝).(
𝑇𝑏

𝐹⁄ ).(
1

𝑇𝑑
)
. 𝑒2𝜋𝑗(𝐶𝑖−𝐶𝑛).(

𝑇𝑏
𝐹⁄ ).𝜔

 

+
𝑆.𝑆2.𝑆4 

2𝜋𝑗(𝐶𝑖−𝐶𝑝).(
𝑇𝑏

𝐹⁄ )
𝑒

2𝜋𝑗(2𝐶𝑛−𝐶𝑖−2𝐶𝑚).(
𝑇𝑏

𝐹⁄ ).(
1

𝑇𝑐
)
. 𝑒

2𝜋𝑗(2𝐶𝑖−2𝐶𝑝).(
𝑇𝑏

𝐹⁄ ).(
1

𝑇𝑑
)
. 𝑒2𝜋𝑗(𝐶𝑖−2𝐶𝑝).(

𝑇𝑏
𝐹⁄ )(𝜔)

 

+
𝑆. 𝑆1. 𝑆3

2𝜋𝑗(𝐶𝑖 + 𝐶𝑝 − 2𝐶𝑚). (
𝑇𝑏

𝐹⁄ )
𝑒

2𝜋𝑗(𝐶𝑚+2𝐶𝑛−2𝐶𝑙−𝐶𝑖).(
𝑇𝑏

𝐹⁄ ).(
1
𝑇𝑐

)
. 𝑒

2𝜋𝑗(2𝐶𝑖+2𝐶𝑝−4𝐶𝑚).(
𝑇𝑏

𝐹⁄ ).(
2

𝑇𝑑
)
. 𝑒2𝜋𝑗(𝐶𝑖+2𝐶𝑝−4𝐶𝑚).(

𝑇𝑏
𝐹⁄ )(𝜔)

 

 
𝑆. 𝑆1. 𝑆3

2𝜋𝑗(𝐶𝑖 + 𝐶𝑛 + 2𝐶𝑝 − 4𝐶𝑚). (
𝑇𝑏

𝐹⁄ )
𝑒

2𝜋𝑗(11𝐶𝑚−𝐶𝑖−2𝐶𝑙−6𝐶𝑝−2𝐶𝑛).(
𝑇𝑏

𝐹⁄ ).(
1
𝑇𝑐

)
. 𝑒

2𝜋𝑗(2𝐶𝑖+5𝐶𝑝+3𝐶𝑛−10𝐶𝑚).(
𝑇𝑏

𝐹⁄ ).(
1

𝑇𝑑
)
. 𝑒−2𝜋𝑗(𝐶𝑖+2𝐶𝑛+4𝐶𝑝−8𝐶𝑚).(

𝑇𝑏
𝐹⁄ )(𝜔)

 

(10)          
−3

𝑇𝑐
< 𝜔 <

1

𝑇𝑐
−

2

𝑇𝑑
 

𝑋𝑜2
(𝜔, 𝑧)

= 𝐸2 ∑ ∑ ∑ ∑ ∑{
𝑆. 𝑆1. 𝑆4

2𝜋𝑗(𝐶𝑖 + 𝐶𝑛 − 2𝐶𝑝). (
𝑇𝑏

𝐹⁄ )
𝑒−2𝜋𝑗𝐶𝑖.(

𝑇𝑏
𝐹⁄ ).𝜔. 𝑒

2𝜋𝑗(5𝐶𝑚−2𝐶𝑙−4𝐶𝑝−𝐶𝑖+2𝐶𝑛).(
𝑇𝑏

𝐹⁄ ).(
1
𝑇𝑐

)
. 𝑒

2𝜋𝑗(𝐶𝑛−𝐶𝑝).(
𝑇𝑏

𝐹⁄ ).(
1

𝑇𝑑
)

𝑘

𝑙=

𝑘

𝑖=1

𝑘

𝑝=1

𝑘

𝑛=1

𝑘

𝑚=1

 

𝑆. 𝑆1. 𝑆4

2𝜋𝑗(𝐶𝑖 − 𝐶𝑝). (
𝑇𝑏

𝐹⁄ )
𝑒−2𝜋𝑗𝐶𝑝 .(

𝑇𝑏
𝐹⁄ ).𝜔. 𝑒

2𝜋𝑗(5𝐶𝑚−2𝐶𝑙−3𝐶𝑝−2𝐶𝑖+2𝐶𝑛).(
𝑇𝑏

𝐹⁄ ).(
1
𝑇𝑐

)
. 𝑒

2𝜋𝑗(2𝐶𝑝−2𝐶𝑖).(
𝑇𝑏

𝐹⁄ ).(
1

𝑇𝑑
)
 

 +
𝑆.𝑆2.𝑆4

2𝜋𝑗(𝐶𝑛+𝐶𝑖−2𝐶𝑝).(
𝑇𝑏

𝐹⁄ )
𝑒2𝜋𝑗(𝐶𝑛−2𝐶𝑝).(

𝑇𝑏
𝐹⁄ ).𝜔. 𝑒

2𝜋𝑗(4𝐶𝑝−𝐶𝑚−2𝐶𝑖−𝐶𝑛).(
𝑇𝑏

𝐹⁄ ).(
1

𝑇𝑐
)
. 𝑒

2𝜋𝑗(3𝐶𝑝−2𝐶𝑖−𝐶𝑛).(
𝑇𝑏

𝐹⁄ ).(
1

𝑇𝑑
)

+ 

𝑆. 𝑆1. 𝑆3

2𝜋𝑗(2𝐶𝑝 + 𝐶𝑛 + 𝐶𝑖 − 4𝐶𝑚). (
𝑇𝑏

𝐹⁄ )
𝑒2𝜋𝑗(2𝐶𝑝+𝐶𝑛−4𝐶𝑚).(

𝑇𝑏
𝐹⁄ ).𝜔. 𝑒

2𝜋𝑗(9𝐶𝑚−𝐶𝑛−4𝐶𝑝−2𝐶𝑙−2𝐶𝑖).(
𝑇𝑏

𝐹⁄ ).(
1
𝑇𝑐

)
. 𝑒

2𝜋𝑗(6𝐶𝑚−2𝐶𝑖−𝐶𝑛−3𝐶𝑝).(
𝑇𝑏

𝐹⁄ ).(
1

𝑇𝑑
)
 

𝑆. 𝑆1. 𝑆4

2𝜋𝑗(𝐶𝑖 − 𝐶𝑛). (
𝑇𝑏

𝐹⁄ )
𝑒

2𝜋𝑗(3𝐶𝑖−4𝐶𝑛+5𝐶𝑚−2𝐶𝑙−3𝐶𝑝).(
𝑇𝑏

𝐹⁄ ).(
1
𝑇𝑐

)
. 𝑒

2𝜋𝑗(𝐶𝑛−𝐶𝑝).(
𝑇𝑏

𝐹⁄ ).(
1

𝑇𝑑
)
. 𝑒2𝜋𝑗(𝐶𝑖−2𝐶𝑛).(

𝑇𝑏
𝐹⁄ ).𝜔

 



+
𝑆. 𝑆2. 𝑆4

2𝜋𝑗(𝐶𝑖 + 𝐶𝑛 − 2𝐶𝑝). (
𝑇𝑏

𝐹⁄ )
𝑒

2𝜋𝑗(4𝐶𝑛−𝐶𝑚−2𝐶𝑝+3𝐶𝑖).(
𝑇𝑏

𝐹⁄ ).(
1
𝑇𝑐

)
. 𝑒

2𝜋𝑗(𝐶𝑛−𝐶𝑝).(
𝑇𝑏

𝐹⁄ ).(
2

𝑇𝑑
)
. 𝑒2𝜋𝑗(𝐶𝑖+2𝐶𝑛−4𝐶𝑝).(

𝑇𝑏
𝐹⁄ )(𝜔)

 

𝑆. 𝑆1. 𝑆3.

2𝜋𝑗(𝐶𝑖 + 𝐶𝑛 + 2𝐶𝑝 − 4𝐶𝑚). (
𝑇𝑏

𝐹⁄ )
𝑒

2𝜋𝑗(3𝐶𝑖+4𝐶𝑛+6𝐶𝑝−11𝐶𝑚−2𝐶𝑙).(
𝑇𝑏

𝐹⁄ ).(
1
𝑇𝑐

)
. 𝑒

2𝜋𝑗(𝐶𝑝+𝐶𝑛−2𝐶𝑚).(
𝑇𝑏

𝐹⁄ ).(
1

𝑇𝑑
)
. 𝑒2𝜋𝑗(𝐶𝑖+2𝐶𝑛+4𝐶𝑝−8𝐶𝑚).(

𝑇𝑏
𝐹⁄ )(𝜔)

 

 

(11)        
−1

𝑇𝑐
−

2

𝑇𝑑
< 𝜔 <

−3

𝑇𝑐
 

𝑋𝑜2
(𝜔, 𝑧)

= 𝐸2 ∑ ∑ ∑ ∑ ∑
𝑆. 𝑆1. 𝑆4

2𝜋𝑗(𝐶𝑖 + 𝐶𝑛 − 2𝐶𝑝). (
𝑇𝑏

𝐹⁄ )
𝑒2𝜋𝑗(𝐶𝑛−2𝐶𝑝).(

𝑇𝑏
𝐹⁄ ).𝜔. 𝑒

2𝜋𝑗(5𝐶𝑚−2𝐶𝑙−10𝐶𝑝+2𝐶𝑖+5𝐶𝑛).(
𝑇𝑏

𝐹⁄ ).(
1
𝑇𝑐

)
. 𝑒

2𝜋𝑗(𝐶𝑛−𝐶𝑝).(
𝑇𝑏

𝐹⁄ ).(
1

𝑇𝑑
)

𝑘

𝑙=

𝑘

𝑖=1

𝑘

𝑝=1

𝑘

𝑛=1

𝑘

𝑚=1

 

𝑆. 𝑆1. 𝑆4

2𝜋𝑗(𝐶𝑖 − 𝐶𝑝). (
𝑇𝑏

𝐹⁄ )
𝑒2𝜋𝑗(𝐶𝑖−2𝐶𝑝).(

𝑇𝑏
𝐹⁄ ).𝜔. 𝑒

2𝜋𝑗(5𝐶𝑚−2𝐶𝑙−6𝐶𝑝+𝐶𝑖+2𝐶𝑛).(
𝑇𝑏

𝐹⁄ ).(
1
𝑇𝑐

)
. 𝑒

2𝜋𝑗(2𝐶𝑖−2𝐶𝑝).(
𝑇𝑏

𝐹⁄ ).(
1

𝑇𝑑
)
 

 +
𝑆.𝑆2.𝑆4

2𝜋𝑗(𝐶𝑛+𝐶𝑖−2𝐶𝑝).(
𝑇𝑏

𝐹⁄ )
𝑒2𝜋𝑗(𝐶𝑖+2𝐶𝑛−4𝐶𝑝).(

𝑇𝑏
𝐹⁄ ).𝜔. 𝑒

2𝜋𝑗(𝐶𝑖−𝐶𝑚−2𝐶𝑝+2𝐶𝑛).(
𝑇𝑏

𝐹⁄ ).(
1

𝑇𝑐
)
. 𝑒

2𝜋𝑗(2𝐶𝑖−5𝐶𝑝+3𝐶𝑛).(
𝑇𝑏

𝐹⁄ ).(
1

𝑇𝑑
)

+ 

𝑆. 𝑆1. 𝑆3

2𝜋𝑗(2𝐶𝑝 + 𝐶𝑛 + 𝐶𝑖 − 4𝐶𝑚). (
𝑇𝑏

𝐹⁄ )
𝑒2𝜋𝑗(4𝐶𝑝+2𝐶𝑛+𝐶𝑖−8𝐶𝑚).(

𝑇𝑏
𝐹⁄ ).𝜔. 𝑒

2𝜋𝑗(2𝐶𝑛+2𝐶𝑝−2𝐶𝑙+𝐶𝑖−4𝐶𝑚).(
𝑇𝑏

𝐹⁄ ).(
1
𝑇𝑐

)
. 𝑒

2𝜋𝑗(3𝐶𝑛+2𝐶𝑖−10𝐶𝑚+5𝐶𝑝).(
𝑇𝑏

𝐹⁄ ).(
1

𝑇𝑑
)
 

 

(12)       
−3

𝑇𝑐
−

2

𝑇𝑑
< 𝜔 <

−3

𝑇𝑐
 

𝑋𝑜2
(𝜔, 𝑧)

= 𝐸2 ∑ ∑ ∑ ∑ ∑
𝑆. 𝑆1. 𝑆4

2𝜋𝑗(𝐶𝑖 + 𝐶𝑛 − 2𝐶𝑝). (
𝑇𝑏

𝐹⁄ )
𝑒

2𝜋𝑗(𝐶𝑖+2𝐶𝑛−4𝐶𝑝).(
𝑇𝑏

𝐹⁄ ).𝜔
. 𝑒

2𝜋𝑗(5𝐶𝑚−2𝐶𝑙−12𝐶𝑝+3𝐶𝑖+6𝐶𝑛).(
𝑇𝑏

𝐹⁄ ).(
1
𝑇𝑐

)
. 𝑒

2𝜋𝑗(2𝐶𝑖+3𝐶𝑛−5𝐶𝑝).(
𝑇𝑏

𝐹⁄ ).(
1

𝑇𝑑
)

𝑘

𝑙=

𝑘

𝑖=1

𝑘

𝑝=1

𝑘

𝑛=1

𝑘

𝑚=1

 

(13)         𝜔 <
−3

𝑇𝑐
−

2

𝑇𝑑
 

𝑋𝑜2
(𝜔, 𝑧) = 0 

 

For calculating the 𝑋𝑜3
(𝜔, 𝑧) and by defining and 𝐸3 as: 

𝐸3 = 8𝜋5𝐴𝑐
′ 4

𝑇𝑐
4𝑏𝐴𝑑𝑇𝑑8𝛾𝑂𝑅𝐶(𝛾𝑅𝐶 + 2𝛾𝑂𝐶)𝑒𝐺1(𝜔)𝑧(

1 − 𝑒−2𝛼𝑧

2𝛼
)2 

 Then, for 𝑇𝑑 > 𝑇𝑐 , 𝑋𝑜2
would be: 

(1) 𝜔 >
4

𝑇𝑐
+

1

𝑇𝑑
        

 
𝑋𝑜3

(𝜔, 𝑧) = 0 

(2)         
2

𝑇𝑐
+

1

𝑇𝑑
< 𝜔 <

4

𝑇𝑐
+

1

𝑇𝑑
 

𝑋𝑜3
(𝜔, 𝑧) = 𝐸3 ∑ ∑ ∑ ∑ ∑

𝑆. 𝑆1. 𝑆3

2𝜋𝑗(𝐶𝑖 − 𝐶𝑛). (
𝑇𝑏

𝐹⁄ )
𝑒

2𝜋𝑗(4𝐶𝑖+𝐶𝑝−2𝐶𝑙−3𝐶𝑚).(
𝑇𝑏

𝐹⁄ ).(
1
𝑇𝑐

)

𝑘

𝑙=

𝑘

𝑖=1

𝑘

𝑝=1

𝑘

𝑛=1

𝑘

𝑚=1

. 𝑒
2𝜋𝑗(𝐶𝑖−𝐶𝑛).(

𝑇𝑏
𝐹⁄ ).(

1
𝑇𝑑

)
. . 𝑒−2𝜋𝑗𝐶𝑖.(

𝑇𝑏
𝐹⁄ ).𝜔

 

 

(3)       
4

𝑇𝑐
−

1

𝑇𝑑
< 𝜔 <

2

𝑇𝑐
+

1

𝑇𝑑
 

𝑋𝑜3
(𝜔, 𝑧) = 𝐸3 ∑ ∑ ∑ ∑ ∑

𝑆. 𝑆2. 𝑆4

2𝜋𝑗(𝐶𝑖 − 𝐶𝑛). (
𝑇𝑏

𝐹⁄ )
𝑒

2𝜋𝑗(2𝐶𝑖−𝐶𝑝−𝐶𝑚).(
𝑇𝑏

𝐹⁄ ).(
1
𝑇𝑐

)
. 𝑒

2𝜋𝑗(2𝐶𝑖−𝐶𝑛).(
𝑇𝑏

𝐹⁄ ).(
1

𝑇𝑑
)
. 𝑒−2𝜋𝑗𝐶𝑖.(

𝑇𝑏
𝐹⁄ ).𝜔

𝑘

𝑙=

𝑘

𝑖=1

𝑘

𝑝=1

𝑘

𝑛=1

𝑘

𝑚=1

 



+ 
𝑆.𝑆1.𝑆3

2𝜋𝑗(𝐶𝑖−𝐶𝑛).(
𝑇𝑏

𝐹⁄ )
𝑒

2𝜋𝑗(2𝐶𝑖+𝐶𝑝−𝐶𝑚−2𝐶𝑙).(
𝑇𝑏

𝐹⁄ ).(
1

𝑇𝑐
)
. 𝑒

2𝜋𝑗(𝐶𝑖−𝐶𝑛).(
𝑇𝑏

𝐹⁄ ).(
1

𝑇𝑑
)
. 𝑒−2𝜋𝑗𝐶𝑖.(

𝑇𝑏
𝐹⁄ )(𝜔)

. 

+
𝑆. 𝑆1. 𝑆3

2𝜋𝑗(𝐶𝑖 − 𝐶𝑛). (
𝑇𝑏

𝐹⁄ )
𝑒

2𝜋𝑗(2𝐶𝑖−2𝐶𝑛+5𝐶𝑚−2𝐶𝑙−3𝐶𝑝).(
𝑇𝑏

𝐹⁄ ).(
1
𝑇𝑐

)
. 𝑒

2𝜋𝑗(𝐶𝑖−𝐶𝑛).(
𝑇𝑏

𝐹⁄ ).(
1

𝑇𝑑
)
. 𝑒−2𝜋𝑗𝐶𝑖.(

𝑇𝑏
𝐹⁄ )(𝜔)

 

+ 
𝑆.𝑆1.𝑆3

2𝜋𝑗(𝐶𝑖−𝐶𝑛).(
𝑇𝑏

𝐹⁄ )
𝑒

2𝜋𝑗(2𝐶𝑖+2𝐶𝑛+𝐶𝑝−3𝐶𝑚−2𝐶𝑙).(
𝑇𝑏

𝐹⁄ ).(
1

𝑇𝑐
)
. 𝑒−2𝜋𝑗𝐶𝑛.(

𝑇𝑏
𝐹⁄ )(𝜔)

 

 

(4    
1

𝑇𝑑
< 𝜔 <

4

𝑇𝑐
−

1

𝑇𝑑
 

 

𝑋𝑜3
(𝜔, 𝑧) = 𝐸3 ∑ ∑ ∑ ∑ ∑

𝑆. 𝑆2. 𝑆4

2𝜋𝑗(𝐶𝑖 − 𝐶𝑛). (
𝑇𝑏

𝐹⁄ )
𝑒

2𝜋𝑗(2𝐶𝑖−𝐶𝑝−𝐶𝑚).(
𝑇𝑏

𝐹⁄ ).(
1
𝑇𝑐

)
. 𝑒

2𝜋𝑗(𝐶𝑖−𝐶𝑛).(
𝑇𝑏

𝐹⁄ ).(
1

𝑇𝑑
)
. 𝑒−2𝜋𝑗𝐶𝑖.(

𝑇𝑏
𝐹⁄ ).𝜔

𝑘

𝑙=

𝑘

𝑖=1

𝑘

𝑝=1

𝑘

𝑛=1

𝑘

𝑚=1

 

+ 
𝑆.𝑆1.𝑆3

2𝜋𝑗(𝐶𝑖−𝐶𝑛).(
𝑇𝑏

𝐹⁄ )
𝑒

2𝜋𝑗(2𝐶𝑖+𝐶𝑝−𝐶𝑚−2𝐶𝑙).(
𝑇𝑏

𝐹⁄ ).(
1

𝑇𝑐
)
. 𝑒

2𝜋𝑗(𝐶𝑖−𝐶𝑛).(
𝑇𝑏

𝐹⁄ ).(
1

𝑇𝑑
)
. 𝑒−2𝜋𝑗𝐶𝑖.(

𝑇𝑏
𝐹⁄ )(𝜔)

. 

+
𝑆. 𝑆1. 𝑆3

2𝜋𝑗(𝐶𝑖 − 𝐶𝑛). (
𝑇𝑏

𝐹⁄ )
𝑒

2𝜋𝑗(2𝐶𝑖−2𝐶𝑛+5𝐶𝑚−2𝐶𝑙−3𝐶𝑝).(
𝑇𝑏

𝐹⁄ ).(
1
𝑇𝑐

)
. 𝑒

2𝜋𝑗(𝐶𝑖−𝐶𝑛).(
𝑇𝑏

𝐹⁄ ).(
1

𝑇𝑑
)
. 𝑒−2𝜋𝑗𝐶𝑖.(

𝑇𝑏
𝐹⁄ )(𝜔)

 

+
𝑆. 𝑆1. 𝑆3

2𝜋𝑗(𝐶𝑖 − 𝐶𝑛). (
𝑇𝑏

𝐹⁄ )
𝑒

2𝜋𝑗(6𝐶𝑛−2𝐶𝑖−3𝐶𝑚−2𝐶𝑙+𝐶𝑝).(
𝑇𝑏

𝐹⁄ ).(
1
𝑇𝑐

)
. 𝑒

2𝜋𝑗(𝐶𝑖−𝐶𝑛).(
𝑇𝑏

𝐹⁄ ).(
1

𝑇𝑑
)
. 𝑒2𝜋𝑗(𝐶𝑖−2𝐶𝑛).(

𝑇𝑏
𝐹⁄ )(𝜔)

 

(5)         
2

𝑇𝑐
−

1

𝑇𝑑
< 𝜔 <

1

𝑇𝑑
 

𝑋𝑜3
(𝜔, 𝑧) = 𝐸3 ∑ ∑ ∑ ∑ ∑

𝑆. 𝑆1. 𝑆4

2𝜋𝑗(𝐶𝑖 − 𝐶𝑛). (
𝑇𝑏

𝐹⁄ )
𝑒

2𝜋𝑗(5𝐶𝑚−2𝐶𝑙−3𝐶𝑝).(
𝑇𝑏

𝐹⁄ ).(
1
𝑇𝑐

)
. 𝑒

2𝜋𝑗(𝐶𝑖−𝐶𝑛).(
𝑇𝑏

𝐹⁄ ).(
1

𝑇𝑑
)
. 𝑒−2𝜋𝑗𝐶𝑖.(

𝑇𝑏
𝐹⁄ ).𝜔

𝑘

𝑙=

𝑘

𝑖=1

𝑘

𝑝=1

𝑘

𝑛=1

𝑘

𝑚=1

 

+ 
𝑆.𝑆2.𝑆4

2𝜋𝑗(𝐶𝑖+𝐶𝑛+2𝐶𝑝−4𝐶𝑚).(
𝑇𝑏

𝐹⁄ )
𝑒

2𝜋𝑗(2𝐶𝑛−𝐶𝑝−𝐶𝑚).(
𝑇𝑏

𝐹⁄ ).(
1

𝑇𝑐
)
. 𝑒

2𝜋𝑗(𝐶𝑖+𝐶𝑛+2𝐶𝑝−4𝐶𝑚).(
𝑇𝑏

𝐹⁄ ).(
1

𝑇𝑑
)
. 𝑒−2𝜋𝑗𝐶𝑖.(

𝑇𝑏
𝐹⁄ )(𝜔)

. 

+
𝑆. 𝑆1. 𝑆3

2𝜋𝑗(𝐶𝑖 − 𝐶𝑛). (
𝑇𝑏

𝐹⁄ )
𝑒

2𝜋𝑗(2𝐶𝑛+𝐶𝑝−𝐶𝑚−2𝐶𝑙).(
𝑇𝑏

𝐹⁄ ).(
1
𝑇𝑐

)
. 𝑒

2𝜋𝑗(𝐶𝑖−𝐶𝑛).(
𝑇𝑏

𝐹⁄ ).(
1

𝑇𝑑
)
. 𝑒−2𝜋𝑗𝐶𝑖.(

𝑇𝑏
𝐹⁄ )(𝜔)

 

 
𝑆. 𝑆2. 𝑆4

2𝜋𝑗(𝐶𝑖 − 𝐶𝑛). (
𝑇𝑏

𝐹⁄ )
𝑒

2𝜋𝑗(2𝐶𝑖−𝐶𝑝−𝐶𝑚).(
𝑇𝑏

𝐹⁄ ).(
1
𝑇𝑐

)
. 𝑒−2𝜋𝑗𝐶𝑛.(

𝑇𝑏
𝐹⁄ ).𝜔

 

+
𝑆. 𝑆1. 𝑆3

2𝜋𝑗(𝐶𝑖 − 𝐶𝑛). (
𝑇𝑏

𝐹⁄ )
𝑒

2𝜋𝑗(2𝐶𝑖+𝐶𝑝−𝐶𝑚−2𝐶𝑙).(
𝑇𝑏

𝐹⁄ ).(
1
𝑇𝑐

)
. 𝑒−2𝜋𝑗𝐶𝑛 .(

𝑇𝑏
𝐹⁄ )(𝜔)

 

+
𝑆. 𝑆1. 𝑆3

2𝜋𝑗(𝐶𝑖 − 𝐶𝑛). (
𝑇𝑏

𝐹⁄ )
𝑒

2𝜋𝑗(2𝐶𝑖−2𝐶𝑛+5𝐶𝑚−2𝐶𝑙−3𝐶𝑝).(
𝑇𝑏

𝐹⁄ ).(
1
𝑇𝑐

)
. 𝑒−2𝜋𝑗𝐶𝑛 .(

𝑇𝑏
𝐹⁄ )(𝜔)

 

+
𝑆. 𝑆1. 𝑆3

2𝜋𝑗(𝐶𝑖 − 𝐶𝑛). (
𝑇𝑏

𝐹⁄ )
𝑒

2𝜋𝑗(6𝐶𝑛−2𝐶𝑖−3𝐶𝑚−2𝐶𝑙+𝐶𝑝).(
𝑇𝑏

𝐹⁄ ).(
1
𝑇𝑐

)
. 𝑒

2𝜋𝑗(𝐶𝑖−𝐶𝑛).(
𝑇𝑏

𝐹⁄ ).(
1

𝑇𝑑
)
. 𝑒2𝜋𝑗(𝐶𝑖−2𝐶𝑛).(

𝑇𝑏
𝐹⁄ )(𝜔)

 

 

(6)       
−2

𝑇𝑐
+

1

𝑇𝑑
< 𝜔 <

2

𝑇𝑐
−

1

𝑇𝑑
 



𝑋𝑜3
(𝜔, 𝑧) = 𝐸3 ∑ ∑ ∑ ∑ ∑

𝑆. 𝑆1. 𝑆4

2𝜋𝑗(𝐶𝑖 − 𝐶𝑛). (
𝑇𝑏

𝐹⁄ )
𝑒

2𝜋𝑗(5𝐶𝑚−2𝐶𝑙−3𝐶𝑝).(
𝑇𝑏

𝐹⁄ ).(
1
𝑇𝑐

)
. 𝑒

2𝜋𝑗(𝐶𝑖−𝐶𝑛).(
𝑇𝑏

𝐹⁄ ).(
1

𝑇𝑑
)
. 𝑒−2𝜋𝑗𝐶𝑖.(

𝑇𝑏
𝐹⁄ ).𝜔

𝑘

𝑙=

𝑘

𝑖=1

𝑘

𝑝=1

𝑘

𝑛=1

𝑘

𝑚=1

 

+ 
𝑆.𝑆2.𝑆4

2𝜋𝑗(𝐶𝑖+𝐶𝑛+2𝐶𝑝−4𝐶𝑚).(
𝑇𝑏

𝐹⁄ )
𝑒

2𝜋𝑗(2𝐶𝑛−𝐶𝑝−𝐶𝑚).(
𝑇𝑏

𝐹⁄ ).(
1

𝑇𝑐
)
. 𝑒

2𝜋𝑗(𝐶𝑖+𝐶𝑛+2𝐶𝑝−4𝐶𝑚).(
𝑇𝑏

𝐹⁄ ).(
1

𝑇𝑑
)
. 𝑒−2𝜋𝑗𝐶𝑖.(

𝑇𝑏
𝐹⁄ )(𝜔)

. 

+
𝑆. 𝑆1. 𝑆3

2𝜋𝑗(𝐶𝑖 − 𝐶𝑛). (
𝑇𝑏

𝐹⁄ )
𝑒

2𝜋𝑗(2𝐶𝑛+𝐶𝑝−𝐶𝑚−2𝐶𝑙).(
𝑇𝑏

𝐹⁄ ).(
1
𝑇𝑐

)
. 𝑒

2𝜋𝑗(𝐶𝑖−𝐶𝑛).(
𝑇𝑏

𝐹⁄ ).(
1

𝑇𝑑
)
. 𝑒−2𝜋𝑗𝐶𝑖.(

𝑇𝑏
𝐹⁄ )(𝜔)

 

+
𝑆. 𝑆2. 𝑆4

2𝜋𝑗(𝐶𝑖 − 𝐶𝑛). (
𝑇𝑏

𝐹⁄ )
𝑒

2𝜋𝑗(2𝐶𝑛−𝐶𝑝−𝐶𝑚).(
𝑇𝑏

𝐹⁄ ).(
1
𝑇𝑐

)
. 𝑒

2𝜋𝑗(𝐶𝑖−𝐶𝑛).(
𝑇𝑏

𝐹⁄ ).(
1

𝑇𝑑
)
. 𝑒2𝜋𝑗(𝐶𝑖−2𝐶𝑛).(

𝑇𝑏
𝐹⁄ ).𝜔

 

 
𝑆. 𝑆1. 𝑆3

2𝜋𝑗(𝐶𝑖 − 𝐶𝑛). (
𝑇𝑏

𝐹⁄ )
𝑒

2𝜋𝑗(2𝐶𝑛+𝐶𝑝−𝐶𝑚−2𝐶𝑙).(
𝑇𝑏

𝐹⁄ ).(
1
𝑇𝑐

)
. 𝑒

2𝜋𝑗(𝐶𝑖−𝐶𝑛).(
𝑇𝑏

𝐹⁄ ).(
1

𝑇𝑑
)
. 𝑒2𝜋𝑗(𝐶𝑖−2𝐶𝑛).(

𝑇𝑏
𝐹⁄ )(𝜔)

 

+
𝑆. 𝑆1. 𝑆3

2𝜋𝑗(𝐶𝑖 − 𝐶𝑛). (
𝑇𝑏

𝐹⁄ )
𝑒

2𝜋𝑗(5𝐶𝑚−2𝐶𝑙−3𝐶𝑝).(
𝑇𝑏

𝐹⁄ ).(
1
𝑇𝑐

)
. 𝑒

2𝜋𝑗(𝐶𝑖−𝐶𝑛).(
𝑇𝑏

𝐹⁄ ).(
1

𝑇𝑑
)
. 𝑒2𝜋𝑗(𝐶𝑖−2𝐶𝑛).(

𝑇𝑏
𝐹⁄ )(𝜔)

 

 

(7)       
−1

𝑇𝑑
< 𝜔 <

−2

𝑇𝑐
+

1

𝑇𝑑
 

𝑋𝑜3
(𝜔, 𝑧)

= 𝐸3 ∑ ∑ ∑ ∑ ∑
𝑆. 𝑆1. 𝑆4

2𝜋𝑗(𝐶𝑖 + 𝐶𝑛 − 2𝐶𝑝). (
𝑇𝑏

𝐹⁄ )
𝑒

2𝜋𝑗(5𝐶𝑚+2𝐶𝑛−2𝐶𝑙−2𝐶𝑖−3𝐶𝑝).(
𝑇𝑏

𝐹⁄ ).(
1
𝑇𝑐

)
. 𝑒

2𝜋𝑗(𝐶𝑖+𝐶𝑛−2𝐶𝑝).(
𝑇𝑏

𝐹⁄ ).(
1

𝑇𝑑
)
. 𝑒−2𝜋𝑗𝐶𝑖.(

𝑇𝑏
𝐹⁄ ).𝜔

𝑘

𝑙=

𝑘

𝑖=1

𝑘

𝑝=1

𝑘

𝑛=1

𝑘

𝑚=1

 

𝑆. 𝑆1. 𝑆4

2𝜋𝑗(𝐶𝑖 − 𝐶𝑛). (
𝑇𝑏

𝐹⁄ )
𝑒

2𝜋𝑗(2𝐶𝑖−2𝐶𝑛+5𝐶𝑚−2𝐶𝑙−3𝐶𝑝).(
𝑇𝑏

𝐹⁄ ).(
1
𝑇𝑐

)
. 𝑒−2𝜋𝑗𝐶𝑛.(

𝑇𝑏
𝐹⁄ ).𝜔

 

+
𝑆. 𝑆2. 𝑆4

2𝜋𝑗(𝐶𝑖 + 𝐶𝑛 + 2𝐶𝑝 − 4𝐶𝑚). (
𝑇𝑏

𝐹⁄ )
𝑒

2𝜋𝑗(2𝐶𝑖+4𝐶𝑛+3𝐶𝑝−9𝐶𝑚).(
𝑇𝑏

𝐹⁄ ).(
1
𝑇𝑐

)
. 𝑒2𝜋𝑗(𝐶𝑛+2𝐶𝑝−4𝐶𝑚).(

𝑇𝑏
𝐹⁄ )(𝜔)

 

+
𝑆. 𝑆1. 𝑆3

2𝜋𝑗(𝐶𝑖 − 𝐶𝑛). (
𝑇𝑏

𝐹⁄ )
𝑒

2𝜋𝑗(2𝐶𝑖+𝐶𝑝−𝐶𝑚−2𝐶𝑙).(
𝑇𝑏

𝐹⁄ ).(
1
𝑇𝑐

)
. 𝑒−2𝜋𝑗𝐶𝑛 .(

𝑇𝑏
𝐹⁄ )(𝜔)

 

+
𝑆. 𝑆2. 𝑆4

2𝜋𝑗(𝐶𝑖 − 𝐶𝑛). (
𝑇𝑏

𝐹⁄ )
𝑒

2𝜋𝑗(2𝐶𝑛−𝐶𝑝−𝐶𝑚).(
𝑇𝑏

𝐹⁄ ).(
1
𝑇𝑐

)
. 𝑒

2𝜋𝑗(𝐶𝑖−𝐶𝑛).(
𝑇𝑏

𝐹⁄ ).(
1

𝑇𝑑
)
. 𝑒2𝜋𝑗(𝐶𝑖−2𝐶𝑛).(

𝑇𝑏
𝐹⁄ ).𝜔

 

 
𝑆. 𝑆1. 𝑆3

2𝜋𝑗(𝐶𝑖 − 𝐶𝑛). (
𝑇𝑏

𝐹⁄ )
𝑒

2𝜋𝑗(2𝐶𝑛+𝐶𝑝−𝐶𝑚−2𝐶𝑙).(
𝑇𝑏

𝐹⁄ ).(
1
𝑇𝑐

)
. 𝑒

2𝜋𝑗(𝐶𝑖−𝐶𝑛).(
𝑇𝑏

𝐹⁄ ).(
1

𝑇𝑑
)
. 𝑒2𝜋𝑗(𝐶𝑖−2𝐶𝑛).(

𝑇𝑏
𝐹⁄ )(𝜔)

 

+
𝑆. 𝑆1. 𝑆3

2𝜋𝑗(𝐶𝑖 − 𝐶𝑛). (
𝑇𝑏

𝐹⁄ )
𝑒

2𝜋𝑗(5𝐶𝑚−2𝐶𝑙−3𝐶𝑝).(
𝑇𝑏

𝐹⁄ ).(
1
𝑇𝑐

)
. 𝑒

2𝜋𝑗(𝐶𝑖−𝐶𝑛).(
𝑇𝑏

𝐹⁄ ).(
1

𝑇𝑑
)
. 𝑒2𝜋𝑗(𝐶𝑖−2𝐶𝑛).(

𝑇𝑏
𝐹⁄ )(𝜔)

 

 

 

(8)  
−4

𝑇𝑐
+

1

𝑇𝑑
< 𝜔 < −

1

𝑇𝑑
 

 



𝑋𝑜3
(𝜔, 𝑧)

= 𝐸3 ∑ ∑ ∑ ∑ ∑
𝑆. 𝑆1. 𝑆4

2𝜋𝑗(𝐶𝑖 + 𝐶𝑛 − 2𝐶𝑝). (
𝑇𝑏

𝐹⁄ )
𝑒

2𝜋𝑗(5𝐶𝑚+2𝐶𝑛−2𝐶𝑙−2𝐶𝑖−3𝐶𝑝).(
𝑇𝑏

𝐹⁄ ).(
1
𝑇𝑐

)
. 𝑒

2𝜋𝑗(𝐶𝑖+𝐶𝑛−2𝐶𝑝).(
𝑇𝑏

𝐹⁄ ).(
1

𝑇𝑑
)
. 𝑒−2𝜋𝑗𝐶𝑖.(

𝑇𝑏
𝐹⁄ ).𝜔

𝑘

𝑙=

𝑘

𝑖=1

𝑘

𝑝=1

𝑘

𝑛=1

𝑘

𝑚=1

 

+
𝑆. 𝑆1. 𝑆4

2𝜋𝑗(𝐶𝑖 − 𝐶𝑛). (
𝑇𝑏

𝐹⁄ )
𝑒

2𝜋𝑗(2𝐶𝑖−2𝐶𝑛+5𝐶𝑚−2𝐶𝑙−3𝐶𝑝).(
𝑇𝑏

𝐹⁄ ).(
1
𝑇𝑐

)
. 𝑒

2𝜋𝑗(𝐶𝑖−𝐶𝑛).(
𝑇𝑏

𝐹⁄ ).(
1

𝑇𝑑
)
. 𝑒2𝜋𝑗(𝐶𝑖−2𝐶𝑛).(

𝑇𝑏
𝐹⁄ ).𝜔

 

+ 
𝑆. 𝑆2. 𝑆4

2𝜋𝑗(𝐶𝑖 + 𝐶𝑛 + 2𝐶𝑝 − 4𝐶𝑚). (
𝑇𝑏

𝐹⁄ )
𝑒

2𝜋𝑗(2𝐶𝑖+4𝐶𝑛+3𝐶𝑝−9𝐶𝑚).(
𝑇𝑏

𝐹⁄ ).(
1
𝑇𝑐

)
. 𝑒

2𝜋𝑗(𝐶𝑖+𝐶𝑛+2𝐶𝑝−4𝐶𝑚).(
𝑇𝑏

𝐹⁄ ).(
1

𝑇𝑑
)
. 𝑒2𝜋𝑗(𝐶𝑖+2𝐶𝑛+4𝐶𝑝−8𝐶𝑚).(

𝑇𝑏
𝐹⁄ )(𝜔)

 

+
𝑆. 𝑆1. 𝑆3

2𝜋𝑗(𝐶𝑖 − 𝐶𝑛). (
𝑇𝑏

𝐹⁄ )
𝑒

2𝜋𝑗(2𝐶𝑖+𝐶𝑝−𝐶𝑚−2𝐶𝑙).(
𝑇𝑏

𝐹⁄ ).(
1
𝑇𝑐

)
. 𝑒

2𝜋𝑗(𝐶𝑖−𝐶𝑛).(
𝑇𝑏

𝐹⁄ ).(
1

𝑇𝑑
)
. 𝑒2𝜋𝑗(𝐶𝑖−2𝐶𝑛).(

𝑇𝑏
𝐹⁄ )(𝜔)

 

(9)       
−2

𝑇𝑐
−

1

𝑇𝑑
< 𝜔 < −

4

𝑇𝑐
+

1

𝑇𝑑
 

 

𝑋𝑜3
(𝜔, 𝑧) = 𝐸3 ∑ ∑ ∑ ∑ ∑

𝑆. 𝑆1. 𝑆4

2𝜋𝑗(𝐶𝑖 + 𝐶𝑛 − 2𝐶𝑝). (
𝑇𝑏

𝐹⁄ )
𝑒

2𝜋𝑗(2𝐶𝑖+5𝐶𝑚+6𝐶𝑛−2𝐶𝑙−11𝐶𝑝).(
𝑇𝑏

𝐹⁄ ).(
1
𝑇𝑐

)
. . 𝑒2𝜋𝑗(𝐶𝑛−2𝐶𝑝).(

𝑇𝑏
𝐹⁄ ).𝜔

𝑘

𝑙=

𝑘

𝑖=1

𝑘

𝑝=1

𝑘

𝑛=1

𝑘

𝑚=1

 

+
𝑆. 𝑆1. 𝑆4

2𝜋𝑗(𝐶𝑖 − 𝐶𝑛). (
𝑇𝑏

𝐹⁄ )
𝑒

2𝜋𝑗(2𝐶𝑖−2𝐶𝑛+5𝐶𝑚−2𝐶𝑙−3𝐶𝑝).(
𝑇𝑏

𝐹⁄ ).(
1
𝑇𝑐

)
. 𝑒

2𝜋𝑗(𝐶𝑖−𝐶𝑛).(
𝑇𝑏

𝐹⁄ ).(
1

𝑇𝑑
)
. 𝑒2𝜋𝑗(𝐶𝑖−2𝐶𝑛).(

𝑇𝑏
𝐹⁄ ).𝜔

 

+ 
𝑆. 𝑆2. 𝑆4

2𝜋𝑗(𝐶𝑖 + 𝐶𝑛 + 2𝐶𝑝 − 4𝐶𝑚). (
𝑇𝑏

𝐹⁄ )
𝑒

2𝜋𝑗(2𝐶𝑖+4𝐶𝑛+3𝐶𝑝−9𝐶𝑚).(
𝑇𝑏

𝐹⁄ ).(
1
𝑇𝑐

)
. 𝑒

2𝜋𝑗(𝐶𝑖+𝐶𝑛+2𝐶𝑝−4𝐶𝑚).(
𝑇𝑏

𝐹⁄ ).(
1

𝑇𝑑
)
. 𝑒2𝜋𝑗(𝐶𝑖+2𝐶𝑛+4𝐶𝑝−8𝐶𝑚).(

𝑇𝑏
𝐹⁄ )(𝜔)

 

+
𝑆. 𝑆1. 𝑆3

2𝜋𝑗(𝐶𝑖 − 𝐶𝑛). (
𝑇𝑏

𝐹⁄ )
𝑒

2𝜋𝑗(2𝐶𝑖+𝐶𝑝−𝐶𝑚−2𝐶𝑙).(
𝑇𝑏

𝐹⁄ ).(
1
𝑇𝑐

)
. 𝑒

2𝜋𝑗(𝐶𝑖−𝐶𝑛).(
𝑇𝑏

𝐹⁄ ).(
1

𝑇𝑑
)
. 𝑒2𝜋𝑗(𝐶𝑖−2𝐶𝑛).(

𝑇𝑏
𝐹⁄ )(𝜔)

 

(10)        
−4

𝑇𝑐
−

1

𝑇𝑑
< 𝜔 < −

2

𝑇𝑐
−

1

𝑇𝑑
 

 

𝑋𝑜3
(𝜔, 𝑧) = 𝐸3 ∑ ∑ ∑ ∑ ∑

𝑆. 𝑆1. 𝑆4

2𝜋𝑗(𝐶𝑖 + 𝐶𝑛 − 2𝐶𝑝). (
𝑇𝑏

𝐹⁄ )
𝑒

2𝜋𝑗(4𝐶𝑖+5𝐶𝑚+8𝐶𝑛−2𝐶𝑙−15𝐶𝑝).(
𝑇𝑏

𝐹⁄ ).(
1
𝑇𝑐

)
. 𝑒

2𝜋𝑗(𝐶𝑖+𝐶𝑛−2𝐶𝑝).(
𝑇𝑏

𝐹⁄ ).(
1

𝑇𝑑
)
. 𝑒

2𝜋𝑗(𝐶𝑖+2𝐶𝑛−4𝐶𝑝).(
𝑇𝑏

𝐹⁄ ).𝜔

𝑘

𝑙=

𝑘

𝑖=1

𝑘

𝑝=1

𝑘

𝑛=1

𝑘

𝑚=1

 

(11)          𝜔 <
−4

𝑇𝑐
−

1

𝑇𝑑
 

 
𝑋𝑜3

(𝜔, 𝑧) = 0 

When the pulse-width of the data is smaller than the pulse-width of clock ( 

𝑇𝑑 < 𝑇𝑐 ) for 𝑋𝑜3
 we have: 

(1)               𝜔 >
4

𝑇𝑐
+

1

𝑇𝑑
        

 
𝑋𝑜3

(𝜔, 𝑧) = 0 

(2)         
4

𝑇𝑐
−

1

𝑇𝑑
< 𝜔 <

4

𝑇𝑐
+

1

𝑇𝑑
 

𝑋𝑜3
(𝜔, 𝑧) = 𝐸3 ∑ ∑ ∑ ∑ ∑

𝑆. 𝑆1. 𝑆3

2𝜋𝑗(𝐶𝑖 − 𝐶𝑛). (
𝑇𝑏

𝐹⁄ )
𝑒

2𝜋𝑗(4𝐶𝑖+𝐶𝑝−2𝐶𝑙−3𝐶𝑚).(
𝑇𝑏

𝐹⁄ ).(
1
𝑇𝑐

)

𝑘

𝑙=

𝑘

𝑖=1

𝑘

𝑝=1

𝑘

𝑛=1

𝑘

𝑚=1

. 𝑒
2𝜋𝑗(𝐶𝑖−𝐶𝑛).(

𝑇𝑏
𝐹⁄ ).(

1
𝑇𝑑

)
. . 𝑒−2𝜋𝑗𝐶𝑖.(

𝑇𝑏
𝐹⁄ ).𝜔

 



 

 

(3)         
2

𝑇𝑐
+

1

𝑇𝑑
< 𝜔 <

4

𝑇𝑐
−

1

𝑇𝑑
 

 

𝑋𝑜3
(𝜔, 𝑧) = 𝐸3 ∑ ∑ ∑ ∑ ∑

𝑆. 𝑆1. 𝑆3

2𝜋𝑗(𝐶𝑖 − 𝐶𝑛). (
𝑇𝑏

𝐹⁄ )
𝑒

2𝜋𝑗(4𝐶𝑛+𝐶𝑝−2𝐶𝑙−3𝐶𝑚).(
𝑇𝑏

𝐹⁄ ).(
1
𝑇𝑐

)

𝑘

𝑙=

𝑘

𝑖=1

𝑘

𝑝=1

𝑘

𝑛=1

𝑘

𝑚=1

. 𝑒
2𝜋𝑗(2𝐶𝑖−2𝐶𝑛).(

𝑇𝑏
𝐹⁄ ).(

1
𝑇𝑑

)
. . 𝑒−2𝜋𝑗𝐶𝑛.(

𝑇𝑏
𝐹⁄ ).𝜔

 

 
 

(4)       
2

𝑇𝑐
−

1

𝑇𝑑
< 𝜔 <

2

𝑇𝑐
+

1

𝑇𝑑
 

𝑋𝑜3
(𝜔, 𝑧) = 𝐸3 ∑ ∑ ∑ ∑ ∑

𝑆. 𝑆2. 𝑆4

2𝜋𝑗(𝐶𝑖 − 𝐶𝑛). (
𝑇𝑏

𝐹⁄ )
𝑒

2𝜋𝑗(2𝐶𝑖−𝐶𝑝−𝐶𝑚).(
𝑇𝑏

𝐹⁄ ).(
1
𝑇𝑐

)
. 𝑒

2𝜋𝑗(𝐶𝑖−𝐶𝑛).(
𝑇𝑏

𝐹⁄ ).(
1

𝑇𝑑
)
. 𝑒−2𝜋𝑗𝐶𝑖.(

𝑇𝑏
𝐹⁄ ).𝜔

𝑘

𝑙=

𝑘

𝑖=1

𝑘

𝑝=1

𝑘

𝑛=1

𝑘

𝑚=1

 

+ 
𝑆.𝑆1.𝑆3

2𝜋𝑗(𝐶𝑖−𝐶𝑛).(
𝑇𝑏

𝐹⁄ )
𝑒

2𝜋𝑗(2𝐶𝑖+𝐶𝑝−𝐶𝑚−2𝐶𝑙).(
𝑇𝑏

𝐹⁄ ).(
1

𝑇𝑐
)
. 𝑒

2𝜋𝑗(𝐶𝑖−𝐶𝑛).(
𝑇𝑏

𝐹⁄ ).(
1

𝑇𝑑
)
. 𝑒−2𝜋𝑗𝐶𝑖.(

𝑇𝑏
𝐹⁄ )(𝜔)

. 

+
𝑆. 𝑆1. 𝑆3

2𝜋𝑗(𝐶𝑖 − 𝐶𝑛). (
𝑇𝑏

𝐹⁄ )
𝑒

2𝜋𝑗(2𝐶𝑖−2𝐶𝑛+5𝐶𝑚−2𝐶𝑙−3𝐶𝑝).(
𝑇𝑏

𝐹⁄ ).(
1
𝑇𝑐

)
. 𝑒

2𝜋𝑗(𝐶𝑖−𝐶𝑛).(
𝑇𝑏

𝐹⁄ ).(
1

𝑇𝑑
)
. 𝑒−2𝜋𝑗𝐶𝑖.(

𝑇𝑏
𝐹⁄ )(𝜔)

 

+
𝑆. 𝑆1. 𝑆3

2𝜋𝑗(𝐶𝑖 − 𝐶𝑛). (
𝑇𝑏

𝐹⁄ )
𝑒

2𝜋𝑗(6𝐶𝑛−2𝐶𝑖−3𝐶𝑚−2𝐶𝑙+𝐶𝑝).(
𝑇𝑏

𝐹⁄ ).(
1
𝑇𝑐

)
. 𝑒

2𝜋𝑗(𝐶𝑖−𝐶𝑛).(
𝑇𝑏

𝐹⁄ ).(
1

𝑇𝑑
)
. 𝑒2𝜋𝑗(𝐶𝑖−2𝐶𝑛).(

𝑇𝑏
𝐹⁄ )(𝜔)

 

(5)  
1

𝑇𝑑
< 𝜔 <

2

𝑇𝑐
−

1

𝑇𝑑
 

 

𝑋𝑜3
(𝜔, 𝑧) = 𝐸3 ∑ ∑ ∑ ∑ ∑

𝑆. 𝑆2. 𝑆4

2𝜋𝑗(𝐶𝑖 − 𝐶𝑛). (
𝑇𝑏

𝐹⁄ )
𝑒

2𝜋𝑗(2𝐶𝑛−𝐶𝑝−𝐶𝑚).(
𝑇𝑏

𝐹⁄ ).(
1
𝑇𝑐

)
. 𝑒

2𝜋𝑗(2𝐶𝑖−2𝐶𝑛).(
𝑇𝑏

𝐹⁄ ).(
1

𝑇𝑑
)
. 𝑒−2𝜋𝑗𝐶𝑛 .(

𝑇𝑏
𝐹⁄ ).𝜔

𝑘

𝑙=

𝑘

𝑖=1

𝑘

𝑝=1

𝑘

𝑛=1

𝑘

𝑚=1

 

+ 
𝑆.𝑆1.𝑆3

2𝜋𝑗(𝐶𝑖−𝐶𝑛).(
𝑇𝑏

𝐹⁄ )
𝑒

2𝜋𝑗(2𝐶𝑛+𝐶𝑝−𝐶𝑚−2𝐶𝑙).(
𝑇𝑏

𝐹⁄ ).(
1

𝑇𝑐
)
. 𝑒

2𝜋𝑗(2𝐶𝑖−2𝐶𝑛).(
𝑇𝑏

𝐹⁄ ).(
1

𝑇𝑑
)
. 𝑒−2𝜋𝑗𝐶𝑛.(

𝑇𝑏
𝐹⁄ )(𝜔)

. 

+
𝑆. 𝑆1. 𝑆3

2𝜋𝑗(𝐶𝑖 − 𝐶𝑛). (
𝑇𝑏

𝐹⁄ )
𝑒

2𝜋𝑗(5𝐶𝑚−2𝐶𝑙−3𝐶𝑝).(
𝑇𝑏

𝐹⁄ ).(
1
𝑇𝑐

)
. 𝑒

2𝜋𝑗(2𝐶𝑖−2𝐶𝑛).(
𝑇𝑏

𝐹⁄ ).(
1

𝑇𝑑
)
. 𝑒−2𝜋𝑗𝐶𝑛.(

𝑇𝑏
𝐹⁄ )(𝜔)

 

 

(6)       −
1

𝑇𝑑
< 𝜔 <

1

𝑇𝑑
 

𝑋𝑜3
(𝜔, 𝑧) = 𝐸3 ∑ ∑ ∑ ∑ ∑

𝑆. 𝑆1. 𝑆4

2𝜋𝑗(𝐶𝑖 − 𝐶𝑛). (
𝑇𝑏

𝐹⁄ )
𝑒

2𝜋𝑗(5𝐶𝑚−2𝐶𝑙−3𝐶𝑝).(
𝑇𝑏

𝐹⁄ ).(
1
𝑇𝑐

)
. 𝑒

2𝜋𝑗(𝐶𝑖−𝐶𝑛).(
𝑇𝑏

𝐹⁄ ).(
1

𝑇𝑑
)
. 𝑒−2𝜋𝑗𝐶𝑖.(

𝑇𝑏
𝐹⁄ ).𝜔

𝑘

𝑙=

𝑘

𝑖=1

𝑘

𝑝=1

𝑘

𝑛=1

𝑘

𝑚=1

 

+ 
𝑆.𝑆2.𝑆4

2𝜋𝑗(𝐶𝑖+𝐶𝑛+2𝐶𝑝−4𝐶𝑚).(
𝑇𝑏

𝐹⁄ )
𝑒

2𝜋𝑗(2𝐶𝑛−𝐶𝑝−𝐶𝑚).(
𝑇𝑏

𝐹⁄ ).(
1

𝑇𝑐
)
. 𝑒

2𝜋𝑗(𝐶𝑖+𝐶𝑛+2𝐶𝑝−4𝐶𝑚).(
𝑇𝑏

𝐹⁄ ).(
1

𝑇𝑑
)
. 𝑒−2𝜋𝑗𝐶𝑖.(

𝑇𝑏
𝐹⁄ )(𝜔)

. 

+
𝑆. 𝑆1. 𝑆3

2𝜋𝑗(𝐶𝑖 − 𝐶𝑛). (
𝑇𝑏

𝐹⁄ )
𝑒

2𝜋𝑗(2𝐶𝑛+𝐶𝑝−𝐶𝑚−2𝐶𝑙).(
𝑇𝑏

𝐹⁄ ).(
1
𝑇𝑐

)
. 𝑒

2𝜋𝑗(𝐶𝑖−𝐶𝑛).(
𝑇𝑏

𝐹⁄ ).(
1

𝑇𝑑
)
. 𝑒−2𝜋𝑗𝐶𝑖.(

𝑇𝑏
𝐹⁄ )(𝜔)

 

+
𝑆. 𝑆2. 𝑆4

2𝜋𝑗(𝐶𝑖 − 𝐶𝑛). (
𝑇𝑏

𝐹⁄ )
𝑒

2𝜋𝑗(2𝐶𝑛−𝐶𝑝−𝐶𝑚).(
𝑇𝑏

𝐹⁄ ).(
1
𝑇𝑐

)
. 𝑒

2𝜋𝑗(𝐶𝑖−𝐶𝑛).(
𝑇𝑏

𝐹⁄ ).(
1

𝑇𝑑
)
. 𝑒2𝜋𝑗(𝐶𝑖−2𝐶𝑛).(

𝑇𝑏
𝐹⁄ ).𝜔

 



 
𝑆. 𝑆1. 𝑆3

2𝜋𝑗(𝐶𝑖 − 𝐶𝑛). (
𝑇𝑏

𝐹⁄ )
𝑒

2𝜋𝑗(2𝐶𝑛+𝐶𝑝−𝐶𝑚−2𝐶𝑙).(
𝑇𝑏

𝐹⁄ ).(
1
𝑇𝑐

)
. 𝑒

2𝜋𝑗(𝐶𝑖−𝐶𝑛).(
𝑇𝑏

𝐹⁄ ).(
1

𝑇𝑑
)
. 𝑒2𝜋𝑗(𝐶𝑖−2𝐶𝑛).(

𝑇𝑏
𝐹⁄ )(𝜔)

 

+
𝑆. 𝑆1. 𝑆3

2𝜋𝑗(𝐶𝑖 − 𝐶𝑛). (
𝑇𝑏

𝐹⁄ )
𝑒

2𝜋𝑗(5𝐶𝑚−2𝐶𝑙−3𝐶𝑝).(
𝑇𝑏

𝐹⁄ ).(
1
𝑇𝑐

)
. 𝑒

2𝜋𝑗(𝐶𝑖−𝐶𝑛).(
𝑇𝑏

𝐹⁄ ).(
1

𝑇𝑑
)
. 𝑒2𝜋𝑗(𝐶𝑖−2𝐶𝑛).(

𝑇𝑏
𝐹⁄ )(𝜔)

 

 

(7)       
−2

𝑇𝑐
+

1

𝑇𝑑
< 𝜔 < −

1

𝑇𝑑
 

𝑋𝑜3
(𝜔, 𝑧) = 𝐸3 ∑ ∑ ∑ ∑ ∑

𝑆. 𝑆1. 𝑆4

2𝜋𝑗(𝐶𝑖 − 𝐶𝑛). (
𝑇𝑏

𝐹⁄ )
𝑒

2𝜋𝑗(5𝐶𝑚−2𝐶𝑙−3𝐶𝑝).(
𝑇𝑏

𝐹⁄ ).(
1
𝑇𝑐

)
. 𝑒

2𝜋𝑗(2𝐶𝑖−2𝐶𝑛).(
𝑇𝑏

𝐹⁄ ).(
1

𝑇𝑑
)
. 𝑒−2𝜋𝑗𝐶𝑛 .(

𝑇𝑏
𝐹⁄ ).𝜔

𝑘

𝑙=

𝑘

𝑖=1

𝑘

𝑝=1

𝑘

𝑛=1

𝑘

𝑚=1

 

+ 
𝑆.𝑆2.𝑆4

2𝜋𝑗(𝐶𝑖+𝐶𝑛+2𝐶𝑝−4𝐶𝑚).(
𝑇𝑏

𝐹⁄ )
𝑒

2𝜋𝑗(2𝐶𝑛−𝐶𝑝−𝐶𝑚).(
𝑇𝑏

𝐹⁄ ).(
1

𝑇𝑐
)
. 𝑒

2𝜋𝑗(2𝐶𝑖+2𝐶𝑛+4𝐶𝑝−8𝐶𝑚).(
𝑇𝑏

𝐹⁄ ).(
1

𝑇𝑑
)
. 𝑒2𝜋𝑗(𝐶𝑛+2𝐶𝑝−4𝐶𝑚).(

𝑇𝑏
𝐹⁄ )(𝜔)

. 

+
𝑆. 𝑆1. 𝑆3

2𝜋𝑗(𝐶𝑖 − 𝐶𝑛). (
𝑇𝑏

𝐹⁄ )
𝑒

2𝜋𝑗(2𝐶𝑛+𝐶𝑝−𝐶𝑚−2𝐶𝑙).(
𝑇𝑏

𝐹⁄ ).(
1
𝑇𝑐

)
. 𝑒

2𝜋𝑗(2𝐶𝑖−2𝐶𝑛).(
𝑇𝑏

𝐹⁄ ).(
1

𝑇𝑑
)
. 𝑒−2𝜋𝑗𝐶𝑛.(

𝑇𝑏
𝐹⁄ )(𝜔)

 

 

 

(8)        
−2

𝑇𝑐
−

1

𝑇𝑑
< 𝜔 <

−2

𝑇𝑐
+

1

𝑇𝑑
 

 
𝑋𝑜3

(𝜔, 𝑧)

= 𝐸3 ∑ ∑ ∑ ∑ ∑
𝑆. 𝑆1. 𝑆4

2𝜋𝑗(𝐶𝑖 + 𝐶𝑛 − 2𝐶𝑝). (
𝑇𝑏

𝐹⁄ )
𝑒

2𝜋𝑗(5𝐶𝑚+2𝐶𝑛−2𝐶𝑙−2𝐶𝑖−3𝐶𝑝).(
𝑇𝑏

𝐹⁄ ).(
1
𝑇𝑐

)
. 𝑒

2𝜋𝑗(𝐶𝑖+𝐶𝑛−2𝐶𝑝).(
𝑇𝑏

𝐹⁄ ).(
1

𝑇𝑑
)
. 𝑒−2𝜋𝑗𝐶𝑖.(

𝑇𝑏
𝐹⁄ ).𝜔

𝑘

𝑙=

𝑘

𝑖=1

𝑘

𝑝=1

𝑘

𝑛=1

𝑘

𝑚=1

 

+
𝑆. 𝑆1. 𝑆4

2𝜋𝑗(𝐶𝑖 − 𝐶𝑛). (
𝑇𝑏

𝐹⁄ )
𝑒

2𝜋𝑗(2𝐶𝑖−2𝐶𝑛+5𝐶𝑚−2𝐶𝑙−3𝐶𝑝).(
𝑇𝑏

𝐹⁄ ).(
1
𝑇𝑐

)
. 𝑒

2𝜋𝑗(𝐶𝑖−𝐶𝑛).(
𝑇𝑏

𝐹⁄ ).(
1

𝑇𝑑
)
. 𝑒2𝜋𝑗(𝐶𝑖−2𝐶𝑛).(

𝑇𝑏
𝐹⁄ ).𝜔

 

+ 
𝑆. 𝑆2. 𝑆4

2𝜋𝑗(𝐶𝑖 + 𝐶𝑛 + 2𝐶𝑝 − 4𝐶𝑚). (
𝑇𝑏

𝐹⁄ )
𝑒

2𝜋𝑗(2𝐶𝑖+4𝐶𝑛+3𝐶𝑝−9𝐶𝑚).(
𝑇𝑏

𝐹⁄ ).(
1
𝑇𝑐

)
. 𝑒

2𝜋𝑗(𝐶𝑖+𝐶𝑛+2𝐶𝑝−4𝐶𝑚).(
𝑇𝑏

𝐹⁄ ).(
1

𝑇𝑑
)
. 𝑒2𝜋𝑗(𝐶𝑖+2𝐶𝑛+4𝐶𝑝−8𝐶𝑚).(

𝑇𝑏
𝐹⁄ )(𝜔)

 

+
𝑆. 𝑆1. 𝑆3

2𝜋𝑗(𝐶𝑖 − 𝐶𝑛). (
𝑇𝑏

𝐹⁄ )
𝑒

2𝜋𝑗(2𝐶𝑖+𝐶𝑝−𝐶𝑚−2𝐶𝑙).(
𝑇𝑏

𝐹⁄ ).(
1
𝑇𝑐

)
. 𝑒

2𝜋𝑗(𝐶𝑖−𝐶𝑛).(
𝑇𝑏

𝐹⁄ ).(
1

𝑇𝑑
)
. 𝑒2𝜋𝑗(𝐶𝑖−2𝐶𝑛).(

𝑇𝑏
𝐹⁄ )(𝜔)

 

(9)       
−4

𝑇𝑐
+

1

𝑇𝑑
< 𝜔 < −

2

𝑇𝑐
−

1

𝑇𝑑
 

 
 

𝑋𝑜3
(𝜔, 𝑧)

= 𝐸3 ∑ ∑ ∑ ∑ ∑
𝑆. 𝑆1. 𝑆4

2𝜋𝑗(𝐶𝑖 + 𝐶𝑛 − 2𝐶𝑝). (
𝑇𝑏

𝐹⁄ )
𝑒

2𝜋𝑗(5𝐶𝑚+4𝐶𝑛−2𝐶𝑙−7𝐶𝑝).(
𝑇𝑏

𝐹⁄ ).(
1
𝑇𝑐

)
. 𝑒

2𝜋𝑗(2𝐶𝑖+2𝐶𝑛−4𝐶𝑝).(
𝑇𝑏

𝐹⁄ ).(
1

𝑇𝑑
)
. 𝑒2𝜋𝑗(𝐶𝑛−2𝐶𝑝).(

𝑇𝑏
𝐹⁄ ).𝜔

𝑘

𝑙=

𝑘

𝑖=1

𝑘

𝑝=1

𝑘

𝑛=1

𝑘

𝑚=1

 

 

 (10)        
−4

𝑇𝑐
−

1

𝑇𝑑
< 𝜔 < −

4

𝑇𝑐
+

1

𝑇𝑑
 

 

𝑋𝑜3
(𝜔, 𝑧) = 𝐸3 ∑ ∑ ∑ ∑ ∑

𝑆. 𝑆1. 𝑆4

2𝜋𝑗(𝐶𝑖 + 𝐶𝑛 − 2𝐶𝑝). (
𝑇𝑏

𝐹⁄ )
𝑒

2𝜋𝑗(4𝐶𝑖+5𝐶𝑚+8𝐶𝑛−2𝐶𝑙−15𝐶𝑝).(
𝑇𝑏

𝐹⁄ ).(
1
𝑇𝑐

)
. 𝑒

2𝜋𝑗(𝐶𝑖+𝐶𝑛−2𝐶𝑝).(
𝑇𝑏

𝐹⁄ ).(
1

𝑇𝑑
)
. 𝑒

2𝜋𝑗(𝐶𝑖+2𝐶𝑛−4𝐶𝑝).(
𝑇𝑏

𝐹⁄ ).𝜔

𝑘

𝑙=

𝑘

𝑖=1

𝑘

𝑝=1

𝑘

𝑛=1

𝑘

𝑚=1

 



(11)        𝜔 <
−4

𝑇𝑐
−

1

𝑇𝑑
 

 
𝑋𝑜3

(𝜔, 𝑧) = 0 

 


